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Child Development and Pedagogy

1.	 Assertion (A): School curriculum should give 
reasonable space and value to learner's cultural 
knowledges.

	 Reason (R): Supporting students to uphold their 
cultural identities facilitates learning.

	 Choose the correct option.
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
2.	 Socio-constructivist views of learning advocate that:

(1) Effective learning is activated by lecturing and 
explaining

(2)	 Effective learning takes place through the 
process of recall and rehearsal

(3)	 Learners receive knowledge passively from 
others

(4)	 Learners actively construct knowledge
3.	 Which of the following statements is NOT correct 

about learning?
(1)	 Learning is facilitated by social action
(2)	 Learning as a product rather than a process
(3)	 Learning depends on learner's previous 

knowledge
(4)	 Learning implies reorganisation of prior 

conceptual schemes
4.	 In the course of development, children achieve gross 

motor skills before fine motor skills, This indicates 
that development is : 
(1)	 Linear 	 (2)	 Proximodistal
(3)	 Anarchic 	 (4)	 Cephalocaudal

5.	 Reasoning, thinking and problem-solving are 
explained in which aspect of development ?
(1)	 Moral Development 
(2)	 Motor Development
(3)	 Social Development
(4)	 Cognitive Development

6.	 After getting ‘out’ in the game due to the rope 
getting stuck in her leg while jumping Aru says that 
the rope deliberately got her out. At what stage of 
Jean Piaget's theory of cognitive development do 
children reason like this ? 
(1)	 Sensory-motor stage 
(2)	 Pre-operation stage
(3)	 Concrete Operational stage 
(4)	 Formal Operational stage

7.	 One Proximodistal principle states that in infancy :
(1)	 development of language occurs rapidly as it is a 

sensitive period for development.

(2)	 Physical development occurs rapidly with the 
development of fine motor skills.

(3)	 the limbs continue to grow faster than the hands 
and feet.

(4)	 development proceeds from head to toe.
8.	 Assertion (A): Learners construct their own 

knowledge based on what they already know.
	 Reason (R): Finding patterns and making linkages 

with previous knowledge helps learners to process 
information meaningfully.

	 Choose the correct option.
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
9.	 Assertion (A): Childhood is experienced differently  

by children across cultures.
	 Reason (R): Childrens’ development is universal.
	 Choose the correct option.

(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
10.	 Assertion (A): In Lawrence Kohlberg’s moral 

development theory children move from 
understanding consequences of acts to determine 
whether they are good or bad to understanding that 
rules and laws are flexible and can be changed.

	 Reason (R): Lawrence Kohlberg argues that moral 
development occurs progressively in stages.

	 Choose the correct option.
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
11.	 Which of the following statements about inclusive 

education is NOT correct?
(1)	 An inclusive classroom “accommodates 

differences in language styles and promotes 
collaboration”.

(2)	 An inclusive classroom centres around “fixed 
curricula and standard assessment”.

(3)	 Inclusive teaching means “teaching in ways that 
do not exclude.”
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(4)	 Inclusive teaching means “adopting pedagogies 
that support needs of all learners”.

12.	 Lev Vygotsky proposes that ______ is important for 
self-regulation in children.
(1)	 Adaptation	 (2)	 Organization
(3)	 Disequilibrium	 (4)	 Inner speech

13.	 As per Jean Piaget's theory of cognitive development, 
which of the following ability distinguishes concrete 
operational thinking from Pre-operational thinking?
(1)	 Hypothetical reasoning
(2)	 Object permanence
(3)	 Coordination of senses
(4)	 Decentering

14.	 Which of the following types of questions can help 
assess a student's ability to evaluate information 
critically?
(1)	 Questions that ask for examples that validate the 

text
(2)	 Questions that ask for a summary of a text
(3)	 Questions that ask for a simple definition of a 

term
(4)	 Questions that ask for the student’s personal 

opinion
15.	 Which of the following aptly defines relationship 

between cognition and emotion ?
(1)	 Cognition influences emotions but reverse is not 

true.
(2)	 Emotions influence cognition but reverse is not 

true.
(3)	 Cognition and emotion are two independent 

systems.
(4)	 Emotion and cognition are interdependent on 

each other.
16.	 Language development in primary classes is 

facilitated :
(1)	 When teachers ignore and dismiss the mother 

tongue of the children.
(2)	 When teachers begin from signs and symbols 

rather than concrete objects.
(3)	 When teachers use concrete examples to refer to 

abstract concepts.
(4)	 When teachers stress upon and enforce the use 

of formal language.
17.	 According to attribution theory of motivation which 

of the following is more likely to result in persistent 
effort and improved performance ?
(1)	 Internal attribution for failure as well as success
(2)	 External attribution for failure as well as success
(3)	 An internal attribution for success and an 

external attribution for failure
(4)	 An external attribution for success and an 

internal attribution for failure
18.	 Inclusion of students belonging to disadvantaged 

groups demands :
(1)	 isolation in the classroom on the basis of social 

affiliation.
(2)	 same-ability grouping of students in the 

classroom.
(3)	 awareness and sensitization towards diverse 

traditions.
(4)	 evidencing and encouraging identity-based 

stereotypes.

19.	 While participating in a sports competition in class, 
Tanuj tells his friend that he will participate in the 
javelin throw and his sister can participate in jump 
rope because she is a girl and girls cannot throw 
javelin. This depicts :
(1)	 Gender equity 	 (2)	 Gender stereotyping
(3)	 Gender constancy 	 (4)	 Gender equality

20.	 Which of the following is a typical characteristic of 
Dyslexia ?
(1)	 Difficulty in physical coordination
(2)	 Difficulty in spatial awareness
(3)	 Difficulty in creative problem solving
(4)	 Difficulty in phonological processing

21.	 Problem solving is fostered by :
(1)	 Passive imitation
(2)	 Response Set
(3)	 Divergent thinking
(4)	 Functional fixedness

22.	 While divergent thinking _____ convergent thinking 
_____.
(1)	 Promotes mathematical abilities; promotes verbal 

abilities
(2)	 Promotes verbal abilities; promotes mathematical 

abilities
(3)	 encourages multiple answers; is fixed on one 

correct solution
(4)	 is fixed on one correct solution; encourages 

multiple answers
23.	 Which of the following would NOT be characterised 

as formative assessment ?
(1)	 An assessment task that is helpful in comparing 

students as per a standard set of criteria.
(2)	 An assessment used to identify misconceptions 

in a student's learning.
(3)	 An assessment given at the beginning, of a new 

concept to determine students’ Prior knowledge.
(4)	 An assessment given during the class to provide 

ongoing feedback to students and teachers.
24.	 Which of the following is a characteristic of effective 

feedback in the classroom ?
(1)	 It is only focused on the outcomes
(2) 	It is timely and specific
(5)	 It is given only at the end of the task.
(4)	 It is broad and generic.

25.	 As per Howard Gardner's theory of multiple 
intelligence, which of the following set represents 
correct match of intelligence and associated 
characteristics ?
(1)	 Musical : performance or composition skills
(2) 	Spatial : skill of appreciating the natural world
(5)	 Intrapersonal : skill in understanding and 

relating to others
(4) 	Logical-Mathematical : skill of dance or athletic 

abilities
26.	 Which of the following correctly describes intrinsic 

motivation ?
(1)	 Motivation that comes from competition with 

others
(2)	 Motivation that comes from a fear of punishment
(3)	 Motivation that comes from external rewards
(4)	 Motivation that comes from personal enjoyment 

of the task
27.	 Which of the following is a key principle of 

progressive education ?
(1)	 Learning should be based on authentic tasks
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(2)	 Curriculum should be predetermined and 
universal

(3)	 Standardized testing is the best way to measure 
student learning

(4)	 Students should be passive recipients of 
knowledge from their teachers

28.	 Impairment is a _____condition, while disability is a 
_____ condition.
(1)	 operative, physical
(2)	 social, psychological
(3)	 biological, functional
(4)	 functional, biological

29.	 Which of the following are NOT examples of 
scaffolding ?
(1)	 Think-aloud	 (2)	 Prompts and cues
(3)	 Questions	 (4)	 Half-solved example

30.	 According to Kohlberg’s theory of moral 
development, at what stage are children self-centered 
and see their own benefit in doing something ?
(1)	 at the third stage in the second level
(2)	 at the fifth stage in the third level
(3)	 at the first stage in the first level
(4)	 at the second stage in the first level 

Mathematics & Science

Direction: Answer the following questions by selecting 
the correct/most appropriate options.
31.	 Which of the following statements is correct?

(1)	 1 is both, a prime and a composite number
(2)	 1 is neither prime nor a composite number
(3)	 1 is a prime number
(4)	 1 is a composite number

32.	 The number of degrees in 
2

2
3

 right angles is :

(1)	 240	 (2)	 330
(3)	 210	 (4)	 285

33.	 A _____ is always a regular polygon.
(1)	 Pentagon	 (2)	 Circle
(3)	 Isosceles triangle	 (4)	 Square

34.	 The parcel sending rates are given below :
	 Parcel weighing (50 grams or less); ` 15.00 parcel 

weighing (for every additional 50 grams) : ` 7.00
	 Meena wants to send a parcel to her friend Charu in 

Delhi. The parcel weighs 350 g. Look at the charges 
and select the correct cost of sending the parcel :
(1)	 ` 55	 (2)	 ` 57
(3)	 ` 42	 (4)	 ` 50

35.	 Which of the following is not true about ‘multiplicity 
of approaches’ in teaching mathematics ?
(1)	 Offering such a choice allows children to explore 

and use the approach that is most natural and 
easy for them.

(2)	 It is crucial for liberating school mathematics 
from the tyranny of the one correct answer.

(3)	 Very often, there are many ways of solving a 
problem.

(4)	 It hampers the learning of child as it leads to 
confusion.

36.	 According to National Curriculum Framework, 2005, 
which of the following processes are least relevant 
in a primary mathematics classroom ?

(1)	 Visualization 
(2)	 Making connections and representations
(3)	 Memorising formulae
(4)	 Use of patterns

37.	 Which of the following statements is/are most 
appropriate for the idea of cognitive conflict in 
teaching mathematics ? 
(a)	 Thoughtful efforts of a teacher to expose 

children to cognitive conflict can enhance their 
mathematical understanding.

(b)	 It is not useful for promoting mathematical 
understanding in children.

(c)	 Children get confused so cognitive conflict must 
be avoided.

Choose the correct option:
(1)	 Only (a) 	 (2)	 Only (c) 
(3)	 (b) and (c) 	 (4)	 (a) and (c) 

38.	 Which of the following statement is most 
appropriate? 
(1)	 Use of teaching-learning material in mathematics 

class consume students’ time for practice.
(2)	 Students do not enjoy riddles in mathematics 

class.
(3)	 Mathematics lab is essential as it provides 

opportunities for hands on activities for 
students?

(4)	 Charts are used in mathematics class as an 
effective teaching-learning material.

39.	 Yamina threw a dice 10 times and the following 
results:

	 5, 3, 6, 6, 1, 4, 5, 3, 3, 2
	 Which of the following numbers she got the 

maximum number of times ?
(1)	 1	 (2)	 5
(3)	 6	 (4)	 3

40.	 Which of the following is true for word problems in 
school mathematics ?
(1)	 Word problems are important in secondary 

classes only.
(2)	 Word problems focus more on procedural 

knowledge in mathematics.
(3)	 Word problems refer to exercises where the child 

formalises the situation into a form where a 
specific mathematical technique can be applied.

(4)	 Word problems are not examples of mathematical 
modelling.

41.	 What should be subtracted from the sum of 9909, 
9099 and 9009 to obtain 25454 ?
(1)	 2536	 (2)	 2563
(3)	 2356	 (4)	 2365

42.	 One millimetre is the same as :
(1)	 0.01 m	 (2)	 0.1 m
(3)	 0.01 cm	 (4)	 0.1 cm

43.	 A frog jumps 3 steps and a rabbit jumps 7 steps 
at a time starting from a place O. At which of the 
following steps, they both will be jumping together?
(1)	 378	 (2)	 354
(3)	 343	 (4)	 371

44.	 Which of the following model is least appropriate 
to develop the conceptual understanding regarding 
the relationships of ones, tens and hundreds in early 
grade learners ?
(1)	 Abacus	 (2)	 Place value chart
(3)	 Dienes blocks	 (4)	 Money
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45.	 How many packets of 
1

12
 kg salt can be made from 

1
7

2
 of salt?

(1)	 72	 (2)	 90
(3)	 45	 (4)	 60

46.	 A student of class III solved 26 × 5 as    2 6
 × 5
1030

	 Revisiting which of the following will best remediate 
this misconception 
(1)	 Recalling multiplication tables
(2)	 One to one correspondence
(3)	 Multiplication of one digit by one digit
(4)	 Concept of regrouping

47.	 Which of the following, is/are related to early 
number concept formation ?
(a)	 One to one correspondence
(b)	 Hierarchical inclusion 
(c)	 Basic operations

	 Choose the correct option.
(1)	 (a) and (b)	 (2)	 (b) and (c)
(3)	 Only (a)	 (4)	 (a) and (c)

48.	 National Education Policy (NEP) - 2020 talks about 
"Knowledge of India”. Which of the following are 
not included in it ?
(1)	 Field visits to different states as part of cultural 

exchange programmes.
(2)	 Formal examination to assess the knowledge 

gained by the students.
(3)	 Knowledge from ancient India and its 

contributions to modern India.
(4)	 Tribal knowledge, indigenous and traditional 

ways of learning as part of various subjects like 
Mathematics, Astronomy, Medicine, Agriculture 
etc.

49.	 The value of 25.3 × 5 – 35 ÷ 5 – 3 × 18.5 is :
(1)	 95.0	 (2)	 –26.5
(3)	 283.05	 (4)	 64.0

50.	 Which of the following is most appropriate to 
introduce ‘Data Handling’ at primary stage ?
(1)	 Showing Population census of a city for five 

years and asking students to compare population 
growth.

(2)	 Drawing a bar graph on the blackboard and 
asking students to read the data from it.

(3)	 Asking the students to read time tables of bus 
and train timings.

(4)	 Within classroom, collecting statistics of students’ 
height; favourite food; colour; cartoon etc. and 
asking questions related to data.

51.	 According to National Education Policy (NEP) 2020, 
assessment of learners include :
(1)	 Cognitive, social and spiritual domains
(2)	 Physical and psychological domains
(3)	 Cognitive and physical domains
(4)	 Cognitive, affective and psychomotor domains

52.	 Brij had a wire of length 100 metres to cover the 
land of his choice. He wanted to take the biggest 
land. Which of the following measurements should 
he choose to take the biggest area ?
(1)	 25 m × 25 m	 (2)	 5 m × 45 m
(3)	 15 m × 35 m	 (4)	 30 m × 20 m

53.	 Which of the following statement is least appropriate 
for encouraging mathematical learning?
(1)	 Mathematics learning is not gender specific
(2)	 Discourage intuition as it hampers the 

development of mathematical ideas.
(3)	 Failure does not imply that students cannot do 

mathematics.
(4)	 Everyone can learn mathematics.

54.	 A number becomes double if it is increased by 8. 
What is the number?
(1)	 12	 (2)	 16
(3)	 6	 (4)	 8

55.	 Which one of the following costs least ?
(1)	 7.5 dozen items of ` 750 each item
(2)	 75 dozen items of ` 7.50 each item
(3)	 75 packets of ` 750 each
(4)	 750 packets of ` 7.50 each

56.	 Which of the following should be the characteristics 
of mathematical language at Primary level 
(a)	 It should be precise.
(b)	 It must be ambiguous as it can add openness in 

the subject.
(c)	 It Should be reinforced through child‘s language 

used in everyday life.
(d)	It must be highly technical as it will help students 

to communicate accurately in mathematics
	 Choose the correct option :
(1)	 (a) and (c) 	 (2)	 (a), (c) and (d) 
(3)	 (a) and (d) 	 (4)	 (a), (b) and (c)

57.	 Which aspect of evaluation is used when a teacher 
ensures that test made by her fulfils the objectives 
and criteria of that test?
(1)	 Reliability	 (2)	 Consistency
(3)	 Validity	 (4)	 Practicality

58.	 See the number pattern given below :
	 1, 8, 27, 64, 125, _____, _____
	 What will be the next two terms?

(1)	 256 and 343	 (2)	 216 and 343
(3)	 256 and 289	 (4)	 216 and 289

59.	 The sum of all angles of a triangle is :
(1)	 180°	 (2)	 360°
(3)	 60°	 (4)	 90°

60.	 While solving 182  – 67
	 in class II a teacher explained that we have to 

subtract 7 from 2 and 2 is smaller than 7. So we will 
borrow one from 8 and then we can subtract 7 from 
12. One student told teacher : Mam ! why we are 
borrowing from eight, as borrowing is not good. 
What a teacher should do in such a situation ?
(1)	 Teacher should tell the student to focus on 

learning the algorithm of subtraction.
(2)	 Teacher should ignore the student's question and 

continue with her work.
(3)	 Teacher should scold the student and make him 

sit.
(4)	 Teacher should change the word ‘borrowing’ 

to ‘regrouping’ and then show the process of 
regrouping.

Environmental Studies
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Direction: Answer the following questions by selecting 
the correct/most appropriate options.
61.	 Read statements (A) and (R) properly and then 

answer the following questions:
	 Assertion (A): Silkworm can find his female worm 

from many kilometres away by her smell.
	 Reason (R): Some female insects release 

‘Pheromones’ Which can be recognised by their 
males by smell.

	 Choose the correct option:
(1)	 (A) is correct but (R) is incorrect.
(2)	 (A) is incorrect but (R) is correct.
(3)	 Both (A) and (R) are correct and (R) explains (A).
(4)	 Both (A) and (R) are correct but (R) does not 

explains (A).
62.	 Which of the following best reflects child “centred 

strategies in teaching EVS at Primary level ?
(1)	 Discussion	 (2)	 Demonstration
(3)	 Lecture	 (4)	 Survey

63.	 You wish that students learn by peer-learning 
strategies. Which strategy will you adopt to form 
groups?
(1)	 Make a heterogeneous group based on 

participation and cooperation
(2)	 From a group of 5 students of same gender and 

socio-economic background
(3)	 Make a roll number-wise groups of 4/5 students
(4)	 Make a homogeneous group of students 

according to their scores in examination.
64.	 "Pochampalli" is famous district for its beautifully 

designed bright coloured sarees and for the special 
kind of weave which is also called Pochampalli. It is 
a part of:
(1)	 Maharashtra	 (2)	 Telangana
(3)	 Tamil Nadu	 (4)	 Karnataka

65.	 Read the following statements carefully:
	 Statement (I): EVS syllabus is divided into 6 themes 

Water, Relationships, Food, Transport, Shelter, and 
How things work.

	 Statements (II) : The themes of EVS are close to 
children’s life.
(1)	 Statement (I) is true and Statement (II) is false
(2)	 Statement (I) is false and Statement (II) is true
(3)	 Both Statements (I) and (II) are true
(4)	 Both Statements (I) and (II) are false

66.	 Comprehensive evaluation means holistic way of 
evaluating a student. The ways in which an EVS 
teacher can assess her students for comprehensive 
evaluation in EVS are:
(1)	 rating scale during assessment of activities
(2)	 portfolio
(3)	 teachers’ observation
(4)	 half yearly and annual exams

67.	 An EVS teacher taught about animals to her students 
and ask them to do the following task :
(A)	Write names of various animals around them
(B)	Observe activities of different animals 
(C)	Classify animals into categories based on 

observations
(D)	Define the term ‘Animal’
	 Which of the above is NOT appropriate for 

students of primary level as per the nature of 
EVS at Primary level ? 

(1)	 Only (C)	 (2)	 Only (D)
(3)	 (A) and (C)	 (4)	 (B) and (C)

68.	 Read the following statements carefully and choose 
the correct options :

	 Statement (A) : Xylem transports water and minerals 
from roots to rest of the plant.

	 Statement (B) : Phloem translocates food from 
leaves to various parts of the plant.
(1)	 (A) is true, but (B) is false 
(2)	 (A) is false, but (B) is true
(3)	 Both (A) and (B) are true 
(4)	 Both (A)’and (B) are false

69.	 Nina, an EVS teacher of class 5 gives a group 
assignment to her students that they have to visit 
nearby agricultural farms and find out information 
about the implements used by farmers during 
agriculture and the type of crops they grow. They 
also have to collect photographs and prepare a 
report. What process skills and learning indicators 
are involved here ?
(1)	 Hypothesising, inferring, expression
(2)	 Prediction, experimentation, observing
(3)	 Questioning, Expression, Inferring
(4)	 Questioning, Experimentation, sensitivity 

towards environment
70.	 Which of the following sets depicts the themes of 

EVS at primary level ?
(1)	 Family and Friends, Travel, Natural resources
(2)	 Shelter, Travel, Things we make and do
(3)	 Weather, Water, Travel
(4)	 Food, Material, Shelter

71.	 Doctors prescribe blood test for patients to confirm 
malaria. Blood test is done to :
(1)	 check for eggs of female anopheles mosquitoes 

in blood
(2)	 check for microbes in blood
(3)	 check for haemoglobin in blood
(4)	 check iron in blood

72.	 Textbooks of EVS should reflect the recommendation 
of NCF 2005 of linking students’ life at school to 
their life outside. This implies :
(1)	 Textbooks supports students to construct 

knowledge through all the given activities.
(2)	 Teachers need to use textbooks as one of the 

teaching learning resource.
(3)	 Students are compelled to memorise few 

important concepts of EVS.
(4)	 Textbook is the only source of knowledge.

73.	 Which one of the following statements regarding 
Ghadsisar Lake is NOT true?
(1)	 It was connected with nine lakes.
(2)	 It is in use till today.
(3)	 King Ghadsi of Jaisalmer got it made.
(4)	 It was built around 650 years ago.

74.	 Seema, an EVS teacher organised a field trip to zoo 
for her students. Which of the following the most 
appropriate objectives of the trip to the zoo ?
(a)	 Recall names of animals in the zoo
(b)	 To relate concepts related to animals
(c)	 To promote process skills
(d)	Assessment of students’ learning at the zoo
(1)	 (a),  (c) and (d)	 (2)	 (a) and (b)
(3)	 (a), (b) and (c)	 (4)	 (b), (c) and (d)

75.	 Ravi took some water in a glass. He puts a lemon in  
it. Then he keeps adding a lot of salt into the water, 
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half a spoon at a time. After some time, he notices 
that:
(1)	 Lemon splits in water.
(2)	 Lemon remains mid-way in glass of water.
(3)	 Lemon sinks in water.
(4)	 Lemon floats in water.

76.	 A chapter in EVS textbook of NCERT describes 
Wahida Prism and her experience in the Navy as 
a doctor. What are the reasons for including this 
chapter ?
(a)	 Her experience challenges gender stereotypes
(b)	 Her story gives a peep into the life of a medical 

officer in the armed forces
(c)	 Understanding that prism reflects 7 colours
(d)	Understanding the difficulties faced by her and 

her ways of tackling them
(1)	 (c) and (d)	 (2)	 (b), (d) and (a)
(3)	 (a), (b) and (c) 	 (4)	 (b), (c) and (d)

77.	 Which of the following strategies promotes inquiry 
while teaching the theme "Food"?
(1)	 Asking students to find out food preferences of 

their family members.
(2)	 Showing pictures of various preserved food 

items used in different regions of India.
(3)	 Asking students to collect pictures of various 

food items.
(4) 	Demonstrating fireless cooking of sandwiches, 

shikanji (lemon water) etc.
78.	 Consider the following statements (A) and (B)
	 Statement (A) : Bora is a common variety of rice 

used in Assam.
	 Statement (B) : Paddy grows well in clayey soil and 

requires a lot of water.
	 Select the correct code from the following.

(1)	 (A) is correct but (B) is wrong
(2)	 (A) is wrong, but (B) is correct
(3)	 (A) and (B) both are correct 
(4)	 (A) and (B) both are wrong,

79.	 Alex, an EVS teacher of class 3 while introducing 
the theme ‘Work We Do’ helps his students to cut 
colourful strips of paper and weave the strips to 
make a mat. "The edges are glued together to make 
a beautiful mat. Which of the following objectives 
should Alex help his students focus?
(a)	 learning about colours, patterns and developing 

an aesthetic sense.
(b)	 relating the activity to weaving done by weavers.
(c)	 memorising the steps of making mat
(d)	choosing papers of attractive colours and 

learning cutting of strips perfectly.
(1)	 (a), (c) and (d) 	 (2)	 (a) and (c)
(3)	 (a), (b) and (d) 	 (4)	 (b), (c) and (d)

80.	 Which one of the following statements regarding Al-
Biruni is NOT true ? Choose the correct answer.
(1)	 He did not write anything about ponds in India.
(2)	 He has praised the making of ponds in India.
(3)	 The place that Al-Biruni came from is now called 

Uzbekistan.
(4)	 More than a thousand years ago, he came to 

India.
81.	 Which one of the following regarding Johad is 

correct? Choose

(1)	 It pumps groundwater into nearby wells.
(2)	 Stores water from rivers.
(3)	 It is a community based rain water harvesting 

system.
(4)	 It filters impurities from water.

82.	 What is the mass of an object with a density of 12 g/
ml and a volume of 3 ml?
(1)	 36 g	 (2)	 4 g
(3)	 15 g	 (4)	 25 g

83.	 Read the given statements carefully and choose the 
correct option.

	 Assertion (A): We can cook food easily at sea level as 
compared to higher altitudes.

	 Reason (R) : At high altitudes, boiling point of water 
increases.
(1)	 (A) is true but (R) is false.
(2)	 (A) is false but (R) is true.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
84.	 It has been observed by bird watchers that there is 

a peculiar species of birds. The male bird make their 
own nests and the female bird looks at all the nests 
and selects the one she likes the best and decides in 
which nest to lay her eggs. The name of the bird is :
(1)	 Indian Robin 	 (2)	 Sunbird
(3)	 Tailor bird 	 (4)	 Weaver bird

85.	 Assertion: The theme ‘Family and Friends’ is a major 
theme in EVS and 'Plants and Animals' are presented 
as a subtheme of “Family and Friends'.

	 Reason : The interdeperdence of human beings and 
other forms of life is highlight through themes. 
(1)	 Assertion is true but the reason is false. 
(2)	 The statement of the assertion is false but the 

reason is true
(3)	 Both the assertion and reason are correct and 

the Reason is the correct explanation of the 
Assertion.

(4)	 The assertion and the reason are correct but 
the Reason is not he correct explanation of the 
Assertion.

86.	 Students conduct a survey in their homes and 
neighbourhood to find out the number of Members 
and approximate amount of water used in each 
family. What skills and-processes are developed 
through this activity?
(1)	 hypothesising, inferring, expression
(2)	 prediction, experimentation, observing
(3)	 questioning, experimentation, sensitivity towards 

environment
(4)	 questioning, inferring, expression 

87.	 The territorial states of Haryana are:
(1)	 Himachal Pradesh, Punjab, Bihar 
(2)	 Bihar, Punjab, Uttar Pradesh
(3)	 Himachal Pradesh, Rajasthan, Uttar Pradesh
(4)	 Uttar Pradesh, Uttarakhand, Madhya Pradesh

88.	 Consider the following statements about beehives:
(a)	 Honey bees in beehives, Every beehive has one 

queen Bee that lays eggs.
(b)	 There are only a few males bees in the hive 

which have special roles as workers.
(c)	 Most of the female bees in the hive are worker 

bees who work all the day in making the hive
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(d)	The worker bees fly around Litchi flowers in 
search of nectar for honey.

	 The correct statements are ;
(1)	 (a) and (c) 	 (2)	 (a) and (d)
(3)	 (a) and (b) 	 (4)	 (c) and (d)

89.	 An EVS teacher asks her students to think and 
answer “Why do we feel comfortable in woollens 
clothes during winter”. This question is a :
(1)	 hypothetical question 
(2)	 factual question
(3)	 convergent question 
(4)	 analytical question

90.	 Read the following Statement (A) and Statement (B) 
below and choose the correct option :
(A): About 2100 years ago, some of the earliest cities 

flourished on the banks of river Indus and its 
tributaries.

(B): About 1500 years ago, cities developed on the 
banks of the Ganga and its tributaries.

(1)	 (A) is true but (B) is false. 
(2)	 (A) is false but (B) is true.
(3)	 Both (A) and (B) are true. 
(4)	 Both (A) and (B) are not true.

Language I: English

Direction (91-99): Read the passage given below and 
answer the questions that follow by selecting the correct/most 
appropriate options.
Yet as soon as she saw him, she did not look as Alfred 
thought she would look: she smiled, be blue eyes never 
wavered, and with a calmness and dignity that made 
them forget that her clothe seemed to have been thrown 
on her, she put out her hand to Mr. Carr and said politely. 
"Is Mrs. Higgins. I'm Alfred's mother."
	 Mr. Carr was a bit embarrassed by her lack of terror 
and her simplicity and her hardly things like compas 
and toothpaste and lipsticks. Stuff he can sell easily." the 
proprietor said.
	 Mrs. Higgins put out her hand and touched Sam 
Carr’s arm with an understanding gentleness and 
speaking as though afraid of disturbing him, she said, “If 
you would only listen to me before doing anything”. Her 
simple earnestness made her shy; her humility made her 
falter and look away, but in a moment she was smiling 
gravely again and she said with a kind of patient dignity, 
What do you internal to do, Mr. Carr ?”
	 "I am going to get a cop. That's what I ought to do.”
	 “Yes, I suppose so, It’s not for me to say, because he’s 
my son. Yet I sometimes think a little good advice is the 
best thing for a boy when he is at a certain period in his 
life,” she said.
	 Alfred couldn’t understand his mother’s quiet 
composure, for if they had been at home and someone 
had suggested that he was going to be arrested, he knew 
she would be in a rage and would cry against him.
91.	 Study the following statements :

(a)	 When she entered the drug store, Mrs. Higgins 
was not properly dressed.

(b)	 She looked like the mother of a guilty person. 
(c)	 Mr. Carr did not expect her to be calm and 

dignified.
(1)	 (a) and (c) are right but (b) is wrong.
(2)	 (a) and (b) are wrong but (c) is right.

(3)	 (a) and (b) are right but (c) is wrong. 
(4)	 (b) and (c) are right but (a) is wrong. 

92.	 '........ made them forget that her clothes seemed...’
The underlined word is a/an _______.
(1)	 Preposition 	 (2)	 Conjunction
(3)	 Noun	 (4)	 Pronoun

93.	 Which of the following statements is not correct?
(1)	 At Mr. Cart’s accusation, Alfred’s mother felt 

intimidated.
(2)	 Yet, she was very gentle in responding, to him
(3)	 Alfred was a petty thief.
(4)	 He stole cream, compact and lipstick from the 

store.
94.	 Which of the following statements is not correct ?

(1)	 When she introduced herself, Mr. Carr felt 
stupefied

(2)	 He felt that he would have to forgive Alfred.
(3)	 At home, Mrs. Higgins would have been enraged.
(4)	 Outside, her conduct was like that of a caring 

mother.
95.	 ‘... he hardly knew what to say to her.'

The underlined is a/an clause.
(1)	 Adjective 	 (2)	 Adverb 
(3)	 Principal 	 (4)	 Noun

96.	 Study the following statements :
(a)	 Mr. Carr intended to get Alfred arrested.
(b)	 Mrs. Higgins wanted him to be given a chance to 

reform himself.
(1)	 Both (a) and (b) are right. 
(2)	 Both (a) and (b) are wrong.
(3)	 (a) is right and (b) is wrong. 
(4)	 (b) is right and (a) is wrong.

97.	 '... her blue eyes never wavered'.
	 Choose the word nearest in meaning to the 

underlined one.
(1)	 waved 	 (2)	 snickered 
(3)	 advanced 	 (4)	 hesitated

98.	 Having looked at his mother, Alfred was :
(1)	 pleased 	 (2)	 surprised	
(3)	 shocked 	 (4)	 scared

99.	 ' .... her humility made her falter...’
	 Choose the word opposite in meaning the underlined 

one.
(1)	 intrigue 	 (2)	 hitch 
(3)	 pride 	 (4)	 frankness

Direction (100-105): Read the extract given below and answer 
the questions that follow. 
	 All the world is a stage,
	 And all the men and women merely players;
	 They have their exits and their entrances;
	 And one man in his time plays many parts,
	 His acts being seven ages. At first the infant,
	 Mewling and puking in the nurse’s arms;
	 Then the whining school-boy, with his satchel
	 And shining morning face, creeping like snail
	 Unwilling to school. And then the lover,
	 Sighing like a furnace, with a woeful ballad
	 Made to his mistress’ eyebrow. Then a soldier,
	 Full of strange oaths, and bearded like a pard,
	 Jealous in honour, sudden and quick in quarrel,
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	 Seeking the bubble-reputation
	 Even in the cannon’s mouth.
100.	Identify the figure of speech used in the first line.

(1)	 Personification 	 (2)	 Hyperbole
(3)	 Simile 	 (4)	 Metaphor

101.	'..... their exits and entrances...’
	 The figure of speech used here is :

(1)	 Personification 	 (2)	 Hyperbole
(3)	 Simile 	 (4)	 Metaphor

102.	Why is the lover's sign compared to a furnace ?
(1)	 He offers warmth to his beloved. 
(2)	 He is writing a ballad.
(3)	 He gets angry very soon. 
(4)	 He feels emotionally charged.

103.	A soldier is jealous about his honour as :
(1)	 he is ferocious like a leopard. 
(2)	 he wants to win at any cost.
(3)	 he is jealous of his enemy. 
(4)	 he is very sensitive about his honour.

104.	What do all men and women do ?
(1)	 play outdoor games like football, cricket, etc.
(2)	 fight wars
(3)	 perform various roles in life
(4)	 indulge in indoor games like chess, cards, etc.

105.	A school-boy :
(1)	 likes his teachers.
(2)	 both (3) and (4)
(3)	 is reluctant to go to school
(4)	 looks beautiful in the morning

106.	Which one of the following is NOT true about using 
the library at the primary level ?

	 The library should not just be seen as a storage space 
for books, rather
(1)	 teachers and other adults can also model reading 

behaviour in the libraries.
(2)	 a read-aloud of the textbook can be best done in 

a library.
(3)	 learners can be exposed to a variety of genres of 

children's literature.
(4)	 as an active environment for engagement with 

books.
107.	Which approach/method doesn’t encourage learners  

to use their native language in a language
(1)	 Direct method
(2)	 Audio-lingual method
(3)	 Natural approach 
(4)	 Communicative approach

108.	Which one of the following should be mastered to 
be literate ?
(1)	 Decoding and language comprehension.
(2)	 Accuracy and phonological comprehension.
(3)	 Phonological awareness and fluency.
(4)	 Sight vocabulary and pattern recognition.

109.	To create an inclusive, welcoming and joyful 
environment that supports every child’s participation 
in achieving the competencies outlined in the 
National Curriculum Framework (NCF) can be best 
done by :
(1)	 displaying children’s work from different 

domains of development.
(2)	 decorating the classroom for a colourful 

environment.

(3)	 conducting indoor activities and avoiding them 
from outdoor activities in scorching heat.

(4)	 majority focusing on the learners good health 
and well being.

110.	Which approach/method is geared towards the 
learner's main goal of using language in a real-life 
context ? 
(1)	 Direct method 	
(2)	 Audio-lingual method
(3)	 Natural approach 	
(4)	 Communicative approach

111.	A student of class V says, “I give my work a final 
check for accuracy before submitting it to the 
teacher.” The student is working at the writing stage 
of :
(1)	 Proof reading 	 (2)	 Peer-evaluation
(3)	 Drafting 	 (4)	 Re-drafting

112.	A third-grade teacher wishes to establish a reading 
corner in her class. In making the judgements 
for selecting a children's book, which one of the 
following questions would be most important to be 
considered first?
(1)	 Will the books help address the goals of the 

third-grade reading curriculum?
(2)	 Will these books be appropriate for use in more 

than one instructional context?
(3)	 Are the authors of these books well-known and 

respected authors of children’s literature ?
(4)	 Are the books written for the independent 

reading level of most  students in the class ?
113.	A teacher is planning to collect a variety of Teaching 

Learning Materials (TLM) for his class students. 
Which one of the following is NOT a correct criterion 
for choosing TLMs?
(1)	 The Material chosen should be preferably locally 

made or locally available, as this would allow for 
easy replacement.

(2)	 The Material chosen should be made by the 
children only and have some roughness to avoid 
slipperiness.

(3)	 The material chosen should be attractive and safe 
for children of this age group to use.

(4)	 The material chosen should provide adequate 
opportunities for the children to explore and 
experiment with curiosity. 

114.	A teacher in class III asked her learners to ask their 
partners five questions about their abilities using the 
word ‘can’, e.g., can you swim ? This type of activity 
enhances: 
(1)	 Free Speaking 
(2)	 Passive listening
(3)	 Oral fluency practice 
(4)	 Controlled oral practice

115.	Literacy teaching approach that emphasise the 
relationship between letters and sounds is :
(1)	 situational approach 
(2)	 phonics instruction
(3)	 whole language Approach 
(4)	 grammar translation

116.	Which one of the following is NOT correct about 
teaching grammar effectively ?
(1)	 Provide practice in communication.
(2)	 Learn grammar by memorizing its rules. 
(3)	 Promote genuine communication. 
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(4)	 Elicit relevant rules of grammar.
117.	Which one of the following is NOT the principle for 

textbook design at the foundational stage.
(1)	 Concrete Principle 
(2)	 Technology Principle
(3)	 Curriculum Principle 
(4)	 Presentation Principle

118.	Children in the foundational stage are more engaged 
in learning when :
(1)	 they trace or write letters repeatedly in their 

notebooks.
(2)	 they focus only on developing fine motor skills.
(3)	 they sing rhymes after the teacher.
(4)	 they use multiple senses and actively use their 

hands.
119.	Which one of the following statements is NOT 

correct with respect to the given sentence ?
	 Sentence: Rhymes, songs and chants are ways for 

children to:
(1)	 practise pronunciation
(2)	 enhance expression and the rhythm of sentences
(3)	 extend vocabulary
(4)	 memorize words and sentence structure

120.	A teacher asked the learners to exchange workbooks 
and check their Partners work. The object of this task 
is to:
(1)	 give controlled practice of structures
(2)	 develop the skill of peer correction
(3)	 give practice in extensive reading
(4)	 give practice in using new vocabulary

Language II: English

Direction (121-128): Read the passage given below and 
answer the questions that follow by selecting the correct/most 
appropriate options.
	 But the Lion went into the forest and found-his own 
supper and no one ever knew what it was, for he didn’t 
mention it. And the scarecrow found a tree full of nuts 
and filled Dorothy's basket with them, so that she would 
not be hungry for a long time. She thought this was very 
kind and thoughtful of the scarecrow, but she laughed 
heartily at the awkward way in which the poor creature 
picked up the nuts. His padded hands were so clumsy 
and the nuts so small that he dropped almost as many 
as he put in the basket. But the scarecrow did not mind 
how long it took him to fill the basket, for it enabled him 
to keep away from the fire, as he feared a spark might 
get into his straw and burn him up. So he kept a good 
distance away from the flames, and only came near to 
cover Dorothy with dry leaves when she lay down 
to sleep. These kept her snug and warm and she slept 
soundly by until morning.
	 When it was daylight, the girl bathed her face in a 
little rippling brook and soon after they all started toward 
the Emerald city.
	 This was to be a wonderful day for the travellers. 
They had hardly been walking an hour when they saw 
before them a ditch that lay across the road and divided 
the forest as far as they could see on either side. 
121.	Which one of the following statements is true?

(1)	 He shelled the nuts for Dorothy. 
(2)	 Nuts mostly grow on bushes.
(3)	 Scarecrow is not caring. 

(4)	 He knows that the nuts are good for Dorothy.
122.	Which one of the following statements is not true ?

(1)	 He decided to hunt his prey. 
(2)	 Dorothy felt amused at the way Scarecrow 

gathered the nuts.
(3)	 Scarecrow was afraid that the Lion might kill 

him.
(4)	 Lion could not eat the nuts gathered by the 

Scarecrow.
123.	Study the following statements :

(a)	 The Scarecrow gathered nuts as the tree was full 
of them.

(b)	 He feared for his life so he got busy in gathering 
nuts.

(1)	 Both (a) and (b) are right. 
(2)	 Both (a) and (b) are wrong.
(3)	 (a) is right and (b) is wrong. 
(4)	 (b) is right and (a) is wrong.

124.	Study the following statements :
(a)	 Dorothy was obliged to the Scarecrow.
(b)	 The Scarecrow vanquished his hunger with nuts. 
(c)	 He gathered so many nuts that no one would 

remain hungry.
(1)	 (c) and (a) are wrong but (b) is right.
(2)	 (a) and (b) are right but (c) is wrong.
(3)	 (a) and (b) are wrong but (c) is right.
(4)	 (b) and (c) are wrong but (a) is right.

125.	No one ever knew what it was.
	 The underlined is a/an ______ clause

(1)	 Adjective 	 (2)	 Adverb 
(3)	 Principal 	 (4)	 Noun

126.	They kept her snug.
	 The underlined word nearly means the same as :

(1)	 cosy 	 (2)	 sordid
(3)	 dizzy	 (4)	 messy

127.	Which of the following statements is/are true?
(1)	 He kept the Lion away from Dorothy.
(2)	 Both (3) and (4).
(3)	 The Scarecrow was kind-hearted as he tried the 

basket with nuts.
(4)	 He helped Dorothy to keep warm at night.

128.	‘... she would not be hungry’.
	 The underlined word is a/an ______.

(1)	 Conjunction	 (2)	 Interjection 
(3)	 Preposition 	 (4)	 Adverb

Direction (129-135): Read the passage given below and 
answer the questions that follow by selecting the correct/most 
appropriate options.
	 Usually the first question I ask a newbie birder 
is, “What do yo think is the most important physical 
requisite to be a birder ? Your eyes, your ears, your nose 
or any other?"
	 Most often, the answer is “eyes”, but several do 
home into what is the most important faculty a least, 
according to me : your ears. Spotting birds in foliage is 
hard enough, but if you hear them, you know they are 
there.
	 But early the other morning, I realised it went much 
beyond that. The first bird call I heard and left the house 
for my walk was the madcap ringing laugh of black-
rumped flameback, earlier known a the golden-backed 
woodpecker. It was a wild, exultant laugh that set the 
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tone and mood for the entire day. And then I realised 
that every bird call evokes a different reaction, memory 
or emotion in the listener.
	 Indian mynas, for example, invariably remind me 
of people in Delhi-always ready to argue and pick a 
fight, belligerent and in your face, Yet, they taught me 
not to make sweeping generalisation because when a 
pair perch on the window sill in the afternoons, they 
have meaningful civilised conversations with each other. 
There is inquiry, humour and affection in their voices.
129.	‘The first bird call I heard as! left the house...’
	 The underlined is a/an clause,

(1)	 Adjective 	 (2)	 Adverb 
(3)	 Principal 	 (4)	 Noun

130.	Study the following statements:
(a)	 Different chirpings of birds evoke different 

emotions in a birder.
(b)	 Sometimes birds make their nests hidden from 

public View.
(1)	 Both (a) and (b) are right. 
(2)	 Both (a) and (b) are Wrong.
(3)	 (a) is right and (b) is wrong. 
(4)	 (b) is right and (a) ‘is wrong.

131.	'..... belligerent in your face.’
	 The underlined word nearly means the same as :

(1)	 musical 	 (2)	 different 
(3)	 hostile 	 (4)	 noisy

132.	‘It was a wild exultant laugh...”
	 The underlined word is a/an

(1)	 Adverb 	 (2)	 Adjective 
(3)	 Noun	 (4)	 Verb

133.	Why should a birder have sharp ears?
(l)	 One can easily locate them from their chirping.
(2)	 Their shrill shrieking can tell one that they are in 

danger
(3)	 One can easily distinguish their mating calls.
(4)	 The birds greet each other with their morning 

calls.
134.	Who is a birder?

(1)	 one rears the birds
(2)	 one who hunts the birds
(3)	 one who catches the birds 
(4)	 one who watches the birds

135.	Study the following statements:
(A)	The writer approves of the conduct of Delhi 

people.
(B)	Indian mynas are generally known for their 

noisy quarrels.
(C)	A-myna couple can also be found enjoying 

themselves.
(1)	 (A) and (C) are right but (B) is wrong
(2)	 (A) and (B) are wrong but (C) is right
(3)	 (A) and (B) are right but (C) is wrong
(4)	 (B) and (C) are right but (A) is wrong.

136.	One of the best way to learn a second language is:
(1)	 by repeating and practicing the dialogues as 

done in the audio-lingual method.
(2)	 by joining a speaking course for the target 

language.
(3)	 being in a classroom where you can focus on the 

grammar and receive help from a teacher.
(4)	 by constant contact with native speakers in their 

own society

137.	If children hear two languages spoken around them, 
this exposure will :
(1)	 not make any difference to the children.
(2)	 confuse the children, hindering understanding.
(3)	 put the children at a disadvantage.
(4)	 put the children at an advantage.

138.	The students learn patterns of language by 
repeating model sentences that the teacher provides. 
They memorise set phrases and receive positive 
reinforcement from their teacher when they perform 
the drills correctly. The teacher is using the:
(1)	 Total physical response 
(2)	 Structural approach
(3)	 Audio-lingual method 
(4)	 Communicative approach

139.	This reading has certain learning aims and tasks, 
learners are supposed to read the text in detail with 
concentration and due care. It is called:
(1)	 Guided reading 	 (2)	 Pleasure reading
(3)	 Extensive reading 	 (4)	 Intensive reading

140.	At the beginning of the lesson, a teacher divided the 
class into groups and asked them to talk about an 
interesting newspaper article that they had just read, 
This type of speaking activity is for enhancing: 
(1)	 Guided oral practice
(2)	 Active listening. 
(3)	 Oral fluency practice
(4)	 Controlled oral practice.

141.	Children’s cognitive development and language
(1)	 development bear no relationship.
(2)	 is closely related to the culture an the community 

in which children live.
(3)	 is related to the principle of linking stimulus-

response and a process of imitation.
(4)	 is that an individual is born with a tool to master 

tha language.
142.	To assess reading skills at primary level a language 

teacher should most importantly focus on:
(1)	 reading at a proper speed.
(2)	 reading with understanding.
(3)	 identifying the letters of alphabet.
(4)	 use of punctuation mark.

143.	Whole language approach is:
(1)	 Blends sounds
(2)	 infers sound-symbol relationship
(3)	 Meaning based 
(4)	 Skill based

144.	A teacher asked the students of class V to read the 
story quickly and then put the four pictures order. 
The purpose of this activity is to:
(1)	 give them practice in reading for specific 

information.
(2)	 revise the new and difficult vocabulary of the 

story.
(3)	 arrange the picture cards.
(4)	 give them practice to reading for the gist. 

145.	“Language learning is an intensive process that 
begins at birth and continues throughout life."

	 Do you agree or disagree with the above statement?
(1)	 I partially agree with the statement.
(2)	 I partially disagree with the statement.
(3)	 l agree with this statement.
(4)	 I disagree with this statement.
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146.	Assessment tools and processes at the foundation 
stage should be designed in a way that:
(1)	 learner's progress is described and analysed with 

that of the overall class performance.
(2)	 a teacher may use common single method to 

assess the achievement of all the learners.
(3)	 explicit tests and examinations become 

appropriate for learners.
(4)	 they become a natural extension of the child’s 

learning experience.
147.	Learners are memorising grammar rules and 

vocabulary and large amount of work is done in 
their mother tongue. Which method is being used 
by the teacher into his language class?
(1)	 Communicative teaching 
(2)	 Grammar Translation
(3)	 Direct method
(4)	 Natural approach

148.	Along with print books and audio books the books 
that engage the tactile abilities of young children 
should be a part of the classroom because:
(1)	 it makes books more accessible to diverse 

learners.
(2)	 these books will not overly burden a teacher.
(3)	 it brings variety to the class and children love 

variety.
(4)	 it gives autonomy to teachers to use different 

books for assessment.
149.	A big challenge in learning to read is finding 

motivation and good children's literature. To 
overcome this challenge:
(1)	 Provide easily accessible Children’s literature to 

motivate and generate interest in reading
(2)	 School authorities must take learners to book 

fairs to generate motivation and interest in 
reading books.

(3)	 Teachers should motivate them to read a book 
everyday as homework.

(4)	 Encourage parents to establish a small library at 
home.

150.	A good speaking activity is the one during which :
(1)	 learners talk more
(2)	 participation by outspoken students is the 

maximum
(3)	 teachers explains more 
(4)	 learners listen more

Hkk"kk-I: fgUnh

funsZ'k (91-99): fuEufyf[kr vuqPNsn dks /;kuiwoZd if<+, rFkk iwNs 
x, ç'uksa ds mÙkj ds :i esa mfpr fodYi dk p;u dhft,µ

	 vkarfjd vkSj ckg~; nksuksa :iksa esa LoPNrk vkSj fueZyrk 
,d cqfu;knh vko';drk gSA eu ds 'kq¼ vkSj lkfRod fopkj 
vkarfjd LoPNrk ds vk;ke gaSA ckg~; LoPNrk ds varxZr LokLF;] 
f'k{kk&i;kZoj.k] vPNh lkekftd vkSj vkfFkZd fLFkfr dk lekos'k gksrk 
gSA ckg~; LoPNrk dk ewyk/kkj vkarfjd LoPNrk gSA eu dh LoPNrk 
ekuo O;ogkj dks n'kkZrh gSA lR;] 'kq¼rk] 'kkafr] izse vkSj lEeku 
tSls vkRek ds tUetkr xq.kksa dk mYya?ku izkd`frd fof/k] fo/kku vkSj 
O;oLFkk dk mYya?ku gSA

91.	 vkarfjd LoPNrk ls lacaf/kr ugha gS%
(1)	 izse	 (2)	 f'k{kk

(3)	 fueZy fopkj	 (4)	 'kkafr

92.	 ^cqfu;knh* esa izR;; gS%
(1)	 bZ	 (2)	 b
(3)	 nh	 (4)	 ;knh

93.	 ^vkarfjd LoPNrk* ls rkRi;Z gS%
(1)	 eu dh dYiuk dks mM+ku nsuk
(2)	 eu dh leLr Hkkoukvksa dk neu djuk
(3)	 eu esa dksey Hkko txkuk
(4)	 eu ds cqjs Hkkoksa dks nwj djuk

94.	 x|ka'k ds vuqlkj euq"; ds fy, ------------- lokZf/kd egRRoiw.kZ gSA
(1)	 'kkafr] izse vkSj ckg~; LoPNrk
(2)	 'kkafr] ckg~; LoPNrk vkSj LokLF;
(3)	 fopkjksa vkSj Hkkoksa dh ifo=rk
(4)	 'kkjhfjd LoPNrk ,oa 'kq¼rk

95.	 lewg ls fHkUu 'kCn gS%
(1)	 lEeku	 (2)	 LoPN
(3)	 LoPNrk	 (4)	 fueZyrk

96.	 ^ckg~; LoPNrk dk ewyk/kkj vkarfjd LoPNrk gS\

	 okD; dk vk'k; gS%
(1)	 ckgjh LoPNrk ij gh Hkhrjh LoPNrk vk/kkfjr gSA
(2)	 ckgjh vkSj Hkhrjh LoPNrk ,d nwljs ls Lora= gSA
(3)	 ckgjh vkSj Hkhrjh LoPNrk nksuksa vko';d gSA
(4)	 Hkhrjh LoPNrk ij ckgjh LoPNrk vk/kkfjr gSA

97.	 fuEu esa fdlesa fo'ks"k.k&fo'ks"; dk laca/k ugha gS\
(1)	 f'k{kk&i;kZoj.k	 (2)	 tUetkr xq.k
(3)	 ckg~; LoPNrk	 (4)	 cqfu;knh vko';drk

98.	 cqfu;knh vko';drk gS%
(1)	 ckgjh vkSj Hkhrjh LoPNrk vkSj fueZyrk
(2)	 ckgjh vkSj Hkhrjh LoPNrk vkSj 'kq¼ fopkj
(3)	 ckgjh LoPNrk vkSj fueZyrk
(4)	 Hkhrjh LoPNrk vkSj fueZyrk

99.	 ^fo/kku* esa ^bd* izR;; yxkus ij 'kCn cusxk%
(1)	 oS/kkfud	 (2)	 oS/kkuhd
(3)	 fo/kkuhd	 (4)	 fo/kkfud

funsZ'k (100-105): fuEufyf[kr vuqPNsn dks /;kuiwoZd if<+, rFkk iwNs 
x, ç'uksa ds mÙkj ds :i esa mfpr fodYi dk p;u dhft,µ

	 gesa feyh vktknh vkSj 'kghnksa ds cfynku ls]

	 vktknh ds fy, gekjh yach pyh yM+kbZ FkhA

	 yk[kksa yksxksa us izk.kksa ls dher cM+h pqdkbZ Fkh]

	 O;kikjh cudj vk, vkSj Ny ls ge ij jkt fd;k]

	 gedks vkil esa yM+okus dh uhfr viukbZ FkhA

		  gesa viuk xkSjo ik;k] vius LokfHkeku ls

		  gesa feyh vktknh vkSj 'kghnksa ds cfynku lsA

100.	vktknh feyus dk Js; fdls fn;k x;k gS\
(1)	 ohjksa ds cfynku dks
(2)	 O;kikjh oxZ ds lg;ksx dks
(3)	 ohjksa dh dwV uhfr dks
(4)	 ohjksa ds vL=&'kL=ksa dks

101.	^uhfr* 'kCn esa fdl izR;; dk iz;ksx fd;k tk ldrk gS\
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(1)	 bd	 (2)	 bZ;
(3)	 rk	 (4)	 bZ

102.	ns'k dh Lora=rk ds fy,%
(1)	 ohjksa dh HkrhZ dh xbZ
(2)	 cgqr lkjk /ku fn;k x;k
(3)	 'kL=ksa dk fuekZ.k fd;k x;k
(4)	 vius thou dh vkgqfr nh

103.	dfork esa fdl ^Ny* dh ckr dh xbZ gS\
(1)	 O;kikjh cu iSlksa dk gsj&Qsj djus ds
(2)	 O;kikjh cuus dh os'k&Hkw"kk /kj.k djus ds
(3)	 O;kikjh cu gesa xqyke cukus ds
(4)	 O;kikjh cu feykoV djus ds

104.	ns'k dks Lora=rk izkIr djus esa ,d yack le; yxk FkkA ;g Hkko 
dfork ds fdl va'k esa izfrfcafcr gksrk gS\
(1)	 xkSjo ik;k vius LokfHkeku lsA
(2)	 yach pyh yM+kbZ FkhA
(3)	 ohj 'kghnksa ds cfynku lsA
(4)	 dher cM+h pqdkbZ FkhA

105.	^LokfHkeku* dk laf/k&foPNsn gS%
(1)	 Lo $ vkfHkeku	 (2)	 Lo $ vfHkeku
(3)	 Lok $ fHkeku	 (4)	 Lo $ fHkeku

106.	fuEufyf[kr esa ls dkSu&lk izkFkfed Lrj ij iqLrdky; ds iz;ksx 
ds ckjs esa lgh ugha gS\

	 iqLrdky; ,d HkaMkj x`g ds :i esa ugha ns[kk tkuk pkfg, cfYd%
(1)	 v/;kid vkSj nwljs o;Ld Hkh iqLrdky;ksa esa vkn'kZ iBu 

O;ogkj iznf'kZr dj ldrs gSaA
(2)	 iqLrdky; esa ikB;iqLrdksa dk lLoj iBu lokZf/kd mi;qDr 

:i ls gks ldrk gSA
(3)	 f'k{kkfFkZ;ksa dks cky lkfgR; dh fofo/k izdkj dh fo/kkvksa dks 

ns[kus ds ekSds feyus pkfg,A
(4)	 iqLrdksa ds lkFk layXurk ds lfØ; ifjos'k ds :i esa ns[kk 

tkuk pkfg,A

107.	dkSu&lk mikxe@fof/k cPpksa dks Hkk"kk dh d{kk esa mudh viuh 
lgtkr Hkk"kk (ekr`Hkk"kk) dk iz;ksx djus ds fy, izksRlkfgr ugha 
djrk gS\
(1)	 izzR;{k fof/k (Mk;jsDV)	 (2)	 JO;Hkkf"kd fof/k
(3)	 izkd`frd mikxe	 (4)	 lEizs"k.kkRed mikxe

108.	lk{kjrk vftZr djus ds fy, fdlesa fuiq.krk (ekLVjh) gksuh 
pkfg,\
(1)	 fMdksfMax vkSj Hkk"kk vocks/ku
(2)	 lVhdrk vkSj /oU;kRed cks/k
(3)	 /oU;kRed tkx:drk vkSj izokg
(4)	 n`'; (lkbV) 'kCnkoyh vkSj izfrekuksa dh igpku

109.	jk"Vªh; ikB~;p;kZ :ijs[kk }kjk js[kkafdr n{krkvksa dks izkIr djus 
esa izR;sd cPps dh izfrHkkfxrk dks leFkZu nsus okyk lekos'kh] 
Lokxrh; vkSj vkuannk;h ifjos'k lokZf/kd mi;qDr rjhds ls dSls 
l`ftr fd;k tk ldrk gS\
(1)	 fodkl ds foHkUu vk;keksa ls cPpksa ds dk;Z dk izn'kZu djds
(2)	 jaxhu vkd"kZd ifjos'k ds fy, d{kk&d{k dh ltkoV djds
(3)	 rirh gqbZ /kwe esa ckg~; xfrfof/k;ksa dks u djds vkSj vkUrfjd 

xfrfof/k;ksa dk vk;kstu djds

(4)	 eq[;r% f'k{kkFkhZ ds vPNs LokLF; vkSj [kq'kgkyh ij /;ku 
dsfUnzr djds

110.	dkSulk mikxe@fof/k f'k{kkFkhZ dh thou dh okLrfod ifjfLFkfr;ksa 
esa Hkk"kk iz;ksx ds eq[; y{; ls lacaf/kr gS\
(1)	 izR;{k fof/k (Mk;jsDV)	 (2)	 JO; Hkkf"kd fof/k
(3)	 izkd`frd mikxe	 (4)	 lEiszs"k.kkRed mikxe

111.	d{kk ik¡p dh ,d fo|kFkhZ dgrh gS]

	 ^^eSa viuk dke v/;kid dks nsus ls igys lVhdrk ds fy, 
vfUre (Qkbuy) :i ls Hkh tk¡prh gw¡A** ;g fo|kFkhZ ys[ku ds 
fdl pj.k ij gS\
(1)	 izwQ jhfMax	 (2)	 lgikBh ewY;kadu
(3)	 izk:i.k	 (4)	 iqu% izk:i.k

112.	d{kk rhu dh v/;kfidk viuh d{kk esa iBu dksuk l`ftr djuk 
pkgrh gSA cPpksa ds fy, iqLrdksa dk p;u djrs le; fuEufyf[kr 
esa ls fdl iz'u dks lcls vf/kd egRRoiw.kZ ekuuk pkfg,\
(1)	 D;k iqLrdsa rhljh d{kk dh iBu ikB~;p;kZ ds y{; dks 

lacksfèkr djus esa enn djsaxh\
(2)	 D;k ;s iqLrdsa ,d ls vf/kd funsZ'kkRed izlax esa iz;ksx ds 

fy, mi;qDr gSa\
(3)	 D;k bu iqLrdksa ds ys[kd tkus&ekus gSa\ cky lkfgR; ds 

ekuuh; ys[kd gSa\
(4)	 D;k iqLrdsa d{kk ds vf/kdka'k fo|kfFkZ;ksa ds Lora= iBu Lrj 

ds vuqlkj fy[kh xbZ gS\

113.	,d v/;kfidk d{kk nks ds fo|kfFkZ;ksa ds fy, fofo/k izdkj dh 
f'k{k.k vf/kxe lkexzh tqVkuk pkg jgh gSA fuEufyf[kr esa ls 
dkSu&lk ekunaM Vh,y,e ds p;u ds fy, lgh ugha gS\
(1)	 p;fur lkexzh vf/kekur% LFkkuh; :i ls fufeZr ;k LFkkuh; 

:i ls miyC/k gks ftls vklkuh ls cnyk tk ldsA
(2)	 p;fur lkexzh flQZ cPpksa }kjk cukbZ xbZ gksuh pkfg, vkSj 

fQlyu dks cpkus ds fy, dqN [kqjnjh gksuh pkfg,A
(3)	 p;fur lkexzh bl vk;q lewg ds cPpksa ds iz;ksx ds fy, 

vkd"kZd vkSj lqjf{kr gksuh pkfg,A
(4)	 p;fur lkexzh ,slh gks tks cPpksa dks ftKklk ds lkFk 

[ksktchu vkSj iz;ksx djus esa i;kZIr volj nsaA

114.	d{kk rhu dh v/;kfidk us vius f'k{kkfFkZ;ksa ls dgk fd os vius 
lgikfB;ksa esa ^lduk* 'kCn ds iz;ksx dh ;ksX;rk ls lacaf/kr ik¡p 
iz'u iwNsa] tSls fd& D;k rqe rSj ldrs gks\ xfrfof/k dk ;g 
izdkj fdlfy, gS\
(1)	 LoNUn cksyuk	 (2)	 fuf"Ø; Jo.k
(3)	 ekSf[kd izokg vH;kl	 (4)	 fu;fU=r ekSf[kd vH;kl

115.	fuEufyf[kr esa ls dkSu&lk lk{krk f'k{k.k mikxe v{kjksa vkSj 
èofu ds chp laca/k ij cy nsrk gS\
(1)	 fLFkfrijd mikxe	 (2)	 /ofu foKku funsZ'k
(3)	 lexz Hkk"kk i¼fr	 (4)	 O;kdj.k vuqokn

116.	fuEufyf[kr esa ls dkSu&lk O;kdj.k f'k{k.k dks izHkko'kkyh rjhds 
ls i<+kus ds ckjs esa lgh ugha gS\
(1)	 lEizs"k.k ds vH;kl ds volj nsuk
(2)	 O;kdj.k dks mlds fu;e daBLFk djds lh[kuk
(3)	 okLrfod lEizs"k.k izLrqr djuk
(4)	 O;kdj.k ds izklafxd fu;e izLrqr djukA



Paper-1: 2024 �  25

117.	fuEufyf[kr esa ls dkSu&lk fl¼kUr cqfu;knh pj.k ij ikB;iqLrd 
vfHkdYiuk dk ugha gS\
(1)	 ewrZ fl¼kUr	 (2)	 rduhdh fl¼kUr
(3)	 ikB;p;kZ fl¼kUr	 (4)	 izLrqrhdj.k fl¼kUr

118.	cqfu;knh pj.k dh voLFkk okys cPps vf/kxe esa rc dgha vf/kd 
layXu gksrs gSa tc----------A
(1)	 os viuh dkWih esa v{kjksa dh ckj&ckj Vsªsflax djrs gSa ;k 

ckj&ckj fy[krs gSaA
(2)	 eq[; dsUnz flQZ lw{e xR;kRed dkS'kyksa ds fodkl ij gksrk 

gSA
(3)	 os v/;kid ds ihNs&ihNs f'k'kqxhr xkrs gSaA
(4)	 os lHkh bfUnz;ksa dk iz;ksx djrs gSa vkSj vius gkFkksa dk lfØ; 

iz;ksx djrs gSaA

119.	fuEufyf[kr okD; ds lanHkZ esa dkSu&lk dFku lgh ugha gS\

	 cPpksa }kjk f'k'kq xhr] xhr] vykiuk fdlds rjhds gSa\
(1)	 mPpkj.k dk vH;kl djus dsA
(2)	 vfHkO;fDr dk lao¼Zu vkSj okD;ksa dh y; dsA
(3)	 'kCnkoyh dks le`¼ djus dsA
(4)	 'kCn vkSj okD; lajpuk dks daBLFk djus dsA

120.	,d v/;kid us f'k{kkfFkZ;ksa dks vius lgikfB;ksa ls viuh vH;kl 
iqfLrdkvksa dh vnyk&cnyh dj tk¡pus ds fy, dgk bl dk;Z 
dk mn~ns'; D;k gS\
(1)	 lajpukvksa dk fu;fU=r vH;kl djukA
(2)	 lgikBh ds dke dh tk¡p ds dkS'ky fodflr djukA
(3)	 foLr`r iBu dk vH;kl djokukA
(4)	 ubZ 'kCnkoyh ds iz;ksx dk vH;kl djokukA

Hkk"kk-II: fgUnh

funsZ'k (121-128): fuEufyf[kr x|ka'k dks /;kuiwoZd if<+, rFkk iwNs 
x, ç'uksa ds mÙkj ds :i esa mfpr fodYi dk p;u dhft,µ

	 bl ckj ekSle foKkfu;ksa us ?kks"k.kk dh gqbZ gS fd vy uhuks izHkko 
ds dkj.k ekulwu detksj jg ldrk gSA pSr ds eghus esa ckfj'k gksus ds 
gkykr ij  ?kk?kk us Hkh ;gh dgk gSA pSr ;kuh ekpZ&vizSy ds fnuksa esa 
vxj ckfj'k gksrh gS rks lkou lw[kk tk ldrk gS] ckr flQZ bl ckj 
ds ekulwu dh ugha gSA vesfjdk esa gky gh esa rkts ikuh ds gkykr ij 
gq, ,d lEesyu esa la;qDr jk"Vª la?k ds egklfpo ,aVksfu;ks xqrsjst us 
,d fjiksVZ tkjh dh gSA blesa dgk x;k gS fd 2050 rd ikuh dk lcls 
cM+k ladV Hkkjr esa vkus okyk gSA Hkkjr ij ladV blfy, gS D;ksafd 
xaxk] ;equk] czãiq= vkSj fla/kq tSlh ufn;ksa dk ikuh /khjs&/khjs de gksrk 
tk,xkA flQZ ckr djsa rks 2500 fdyksehVj yach ;g unh mRrjk[kaM ls 
caxky ds chp dbZ jkT;ksa ls xqtjrh gSA blds fdukjksa ij cls uxjksa] 
dLcksa vkSj xk¡oksa dh djhc pkyhl djksM+ dh vkcknh dh ikuh ls tqM+h 
t:jrksa dks ;g iwjk djrh gSA blds ikuh dk lzksr xaxks=h Xysf'k;j gSA 
i;kZoj.k foKkfu;ksa dk nkok gS fd fiNys 87 lky esa rhl fdyksehVj 
yacs bl Xysf'k;j dk ikSus nks fdyksehVj fgLlk fi?kydj xk;c gks 
pqdk gSA vHkh tyok;q ifjorZu dk tks gky gS] og iwjs fgeky; {ks= 
ds fy, [krjukd ekuk tk jgk gSA ds fgLls okys fgeky; esa 9775 
Xysf'k;j crk, tkrs gSaA buesa vdsys mRrjk[kaM esa 968 gaSA vc vxj 
buds fi?kyus dh xfr rst gksrh tkrh gS rks D;k gksxk\

121.	x|ka'k ds vuqlkj 2050 rd ikuh dk lcls cM+k ladV vkusokyk 
gS%

(1)	 la;qDr vjc vehjkr esa	 (2)	 ikfdLrku esa
(3)	 vesfjdk esa	 (4)	 Hkkjr esa

122.	vy uhuks dk izHkko iM+rk gS%
(1)	 ekulwu ij	 (2)	 ekuo ij
(3)	 tyok;q ij	 (4)	 ty lzksrksa ij

123.	Hkkjr dh ufn;ksa esa ty de gksrk tk jgk gSA bldk dkj.k gS%
(1)	 Xysf'k;jksa ds {ks=Qy esa deh vkuk
(2)	 Xysf'k;jksa ds {ks=Qy esa o`f¼ gksuk
(3)	 Xysf'k;jksa dk u fi?kyuk
(4)	 Xysf'k;jksa dk rsth ls fi?kyuk

124.	xaxk ds fdukjs cls yksxksa dh vkcknh yxHkx gS%
(1)	 40 djksM+	 (2)	 96 djksM+
(3)	 87 djksM+	 (4)	 30 djksM+

125.	ufn;ksa dk ikuh /khjs&/khjs de gksrk tk,xkA okD; esa js[kkafdr in 
gS%
(1)	 fØ;k fo'ks"k.k	 (2)	 izfo'ks"k.k
(3)	 fo'ks"k.k	 (4)	 fØ;k

126.	^bl Xysf'k;j dk ikSus nks fdyksehVj fgLlk fi?kydj xk;c gks 
pqdk gSA* okD; esa js[kkafdr in gS%
(1)	 xq.kokpd fo'ks"k.k	 (2)	 lkoZtfud fo'ks"k.k
(3)	 la[;kokpd fo'ks"k.k	 (4)	 ifjek.kokpd fo'ks"k.k

127.	^i;kZoj.k* esa milxZ vkSj ewy 'kCn gS%
(1)	 ifj $ vkoj.k	 (2)	 ij $ vkoj.k
(3)	 i;kZ $ vkoj.k	 (4)	 ijh $ vkoj.k

128.	x|ka'k esa fdl ladV dh ckr dh xbZ gS\
(1)	 ty ladV	 (2)	 i;kZoj.k ladV
(3)	 [kk| ladV	 (4)	 jkstxk ladV

funsZ'k (129-135): fuEufyf[kr x|ka'k dks /;kuiwoZd if<+, rFkk iwNs 
x, ç'uksa ds mÙkj ds :i esa mfpr fodYi dk p;u dhft,µ

	 bl lalkj esa lc dqN vLFkk;h gSA iki vkSj iq.; nksuksa bl lalkj 
ls lacaf/kr gS] blfy, iki vkSj iq.; Hkh vLFkk;h gSA iq.; lq[k nsdj 
vkSj iki nq[k nsdj var dks izkIr gksrk gSA ysfdu iki vkSj iq.; esa 
FkksM+k varj ;g gS fd iq.; dk Qy ;fn ge ugha pkgrs rks ml Qy 
dk vLohdkj djus ds fy, Lora= gSA iki yksgs dh tathj gS rks iq.; 
lksus dhA ca/ku nksuksa esa gSA yksgs dh tathj ls NwVus dk vkneh dk eu 
Hkh djrk gS ysfdu lksus dh tathj ls tks c¡/kk gqvk gks mldks og caèku 
I;kjk yxus yxrk gSA mlesa mldks /ku utj vkrk gS mlls NwVus dk 
eu ugha djrkA

129.	^Lora=* dk foykse gS%
(1)	 nklrk	 (2)	 ijra=rk
(3)	 xqyke	 (4)	 ijra=

130.	iki vkSj iq.; nksuksa --------- gSA
(1)	 LokHkkfod	 (2)	 gkfudkjd
(3)	 LFkk;h	 (4)	 vLFkk;h

131.	lewg ls fHkUu 'kCn gS%
(1)	 vLFkk;h	 (2)	 I;kjk
(3)	 Qy	 (4)	 Lora=

132.	iki vkSj iq.; nksuksa dh rqyuk Øe'k% ------ vkSj ------ dh tathj 
ls dh xbZ gSA
(1)	 yksgs] Lo.kZ	 (2)	 ihry] yksgs
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(3)	 Lo.kZ] yksgs	 (4)	 yksgs] ihry

133.	bl lalkj esa dqN Hkh ------- ugha gSA
(1)	 LFkk;h	 (2)	 vLFkk;h
(3)	 viw.kZ	 (4)	 iw.kZ

134.	x|ka'k ds vuqlkj iki vkSj iq.;%
(1)	 nksuksa ls eqfDr vfuok;Z gSA
(2)	 nksuksa esa ca/ku gSA
(3)	 nksuksa esa Lora=rk gSA
(4)	 nksuksa esa Qy dh bPNk jgrh gSA

135.	iq.; esa mlds Qy dks%
(1)	 fdlh nwljs ds fy, mi;ksx esa yk ldrs gSa
(2)	 izkIr djuk cgqr Jelk/; gS
(3)	 ge Lohdkj ugha Hkh dj ldrsA
(4)	 ge Lohdkj djus ds fy, ck/; gSa

136.	dksbZ Hkh O;fDr fdlds }kjk lokZf/kd mi;qDr rjhds ls f}rh; 
Hkk"kk lh[k ldrk gS\
(1)	 JO; Hkkf"kd fof/k ds vuqlkj laoknksa dks nksgjkuk vkSj 

vH;kl djukA
(2)	 y{; Hkk"kk ds fdlh okpu ikB;Øe esa nkf[kyk ysdj
(3)	 ,slh d{kk tgk¡ vki O;kdj.k ij /;ku dsfUnzr djrs gSa vkSj 

v/;kid ls lgk;rk izkIr djrs gSaA
(4)	 vius lekt esa lgtkr okpdksa (ewyHkk"kk cksyus okyksa) ds 

lrr lEidZ ds ek/;e lsA

137.	;fn cPps vius ifjos'k esa gh Hkk"kkvksa dk cksyuk lqurs gSa] nks 
Hkk"kkvksa dks lquus ds ;s volj%
(1)	 dksbZ izHkko ugha Mkyrs gSaA
(2)	 le> esa Hkzfer djrs gSaA
(3)	 cPpksa dks uqdlku igq¡pkrs gSaA
(4)	 cPPkksa dks ykHk igq¡pkrs gSaA

138.	fo|kFkhZ v/;kid }kjk fn;s x, vknkZ okD;ska dks nksgjkdj Hkk"kk 
ds izfreku (iSVuZ) lh[krs gSaA os okD;ksa dks daBLFk dj ysrs gSa vkSj 
lgh rjhds ls fMªy djus ij vius v/;kid }kjk ldkjkRed 
iquoZyu izkIr djrs gSaA v/;kid }kjk D;k fd;k tk jgk gS\
(1)	 dqy HkkSfrd izfrfØ;k	 (2)	 lajpukRed mikxe
(3)	 JO; Hkkf"kd fof/k	 (4)	 lEizs"k.kkRed mikxe

139.	bl izdkj ds iBu ds dqN vf/kxe mn~ns'; vkSj dk;Z gSaA 
f'k{kkfFkZ;ksa ls vis{kk jgrh gS fd os fo"k;oLrq dks foLrkj ls 
/;kuiwoZd vkSj lko/kkuhiwoZd i<+sa ;g gS%
(1)	 funsZf'kr iBu	 (2)	 vkuUn ds fy, iBu
(3)	 foLr`r iBu	 (4)	 xgu iBu (baVSaflo)

140.	ikB ds vkjaHk esa ,d v/;kid us viuh d{kk ds f'k{kkfFkZ;ksa dks 
lewgksa esa ck¡Vk vkSj dgk fd vHkh gky gh esa i<+s x, lekpkj i= 
ds #fpdj vkys[k ds ckjs esa ckr djsaA cksyus (okpu) dh ;g 
xfrfof/k fdlfy, gS\
(1)	 funsZf'kr ekSf[kd vH;kl	 (2)	 lfØ; Jo.k
(3)	 ekSf[kd izokg vH;kl	 (4)	 fu;af=r ekSf[kd vH;kl

141.	cPpksa dk laKkukRed fodkl vkSj Hkk"kk%
(1)	 fodkl esa dksbZ laca/k ugha gS
(2)	 ml laLd`fr vkSj leqnk;ksa ls ?kfu"B :i ls lacaf/kr gS ftuesa 

cPps jgrs gSaA

(3)	 míhid izfrfØ;k laca/k ds fl¼kar vkSj vuqdj.k dh izfØ;k 
ls lacaf/kr gSA

(4)	 euq"; dk lgtkr midj.k gS ftlds }kjk og Hkk"kk esa 
fuiq.krk izkIr djrk gSA

142.	izkFkfed Lrj ij Hkk"kk dkS'ky dk vkdyu djus ds fy, Hkk"kk 
v/;kid dks eq[;r% fdl ij /;ku dsfUnzr djuk pkfg,\
(1)	 mfpr xfr ds lkFk iBuA
(2)	 le> ds lkFk iBuA
(3)	 o.kZekyk ds v{kjksa dh igpku djukA
(4)	 fojke fpUgksa dk iz;ksxA

143.	lexz Hkk"kk mikxe D;k gS\
(1)	 /ofu;ksa dk feJ.k
(2)	 /ofu&ladsr laca/k esa fu"d"kZ fudkyuk
(3)	 vFkZ vk/kkfjr
(4)	 dkS'ky vk/kkfjr

144.	,d v/;kid us d{kk ik¡p ds fo|kfFkZ;ksa dks 'kh?kzrk ls ,d dgkuh 
i<+us vkSj mdls ckn pkj fp=ksa dks Øe esa yxkus ds fy, dgkA 
bl xfrfof/k dk D;k mís'; gS\
(1)	 fof'k"V lwpuk tkuus ds fy, iBu dk vH;kl djokukA
(2)	 dgkuh esa vk, u, vkSj dfBu 'kCnksa dh iqujko`fRrA
(3)	 fp= dkMks± dks Øe esa yxkukA
(4)	 lkjka'khdj.k ds fy, iBu dk vH;kl djokukA

145.	^^Hkk"kk vf/kxe ,d xgu izfØ;k gS tks tUe ds le; ls 'kq: gksrh 
gS vkSj thou i;ZUr pyrh gSA**

	 D;k vki bl dFku ls lger ;k vlger gSa\
(1)	 eSa bl dFku ls vkaf'kd :i ls lger gw¡A
(2)	 eSa bl dFku ls vkaf'kd :i ls vlger gw¡A
(3)	 eSa bl dFku ls lger gw¡A
(4)	 eSa bl dFku ls vlger gw¡A

146.	cqfu;knh pj.k esa vkdyu ds midj.k vkSj izfØ;kvksa dh 
vfHkdYiuk bl rjg gksuh pkfg,%
(1)	 f'k{kkFkhZ dh izxfr dk mlds lexz d{kk izn'kZu ds lanHkZ esa 

o.kZu vkSj fo'ys"k.k fd;k tkuk pkfg,A
(2)	 v/;kid lHkh f'k{kkfFkZ;ksa dh miyfC/k dk vkdyu djus ds 

fy, ,d gh fof/k dk iz;ksx dj ldrs gSaA
(3)	 ftlls tk¡pi= o ijh{kk,¡ f'k{kkfFkZ;ksa ds fy, Li"V o mfpr 

gks ldsA
(4)	 tks cPps ds vf/kxe vuqHko dk lgt foLrkj cu ldsA

147.	f'k{kkFkhZ O;kdj.k ds fu;e vkSj 'kCn laink dks daBLFk dj jgs gSa] 
vf/kdka'k dk;Z ekr`Hkk"kk esa gks jgk gSA Hkk"kk v/;kid }kjk viuh 
d{kk esa fdl fof/k dk iz;ksx djuk pkfg,\
(1)	 lEizs"k.kkRed f'k{k.k	 (2)	 O;kdj.k vuqokn
(3)	 izR;{k (Mk;jsDV) fof/k	 (4)	 izkd`frd mikxe

148.	d{kk esa NksVs cPPkksa ds fy, eqfnzr iqLrdksa ds lkFk&lkFk JO; 
iqLrdsa vkSj NksVs cPpksa dh Li'kZxzkgh ;ksX;rkvksa dk bLrseky djus 
okyh iqLrdsa gksuh pkfg, D;ksafd&
(1)	 fofo/krk okys f'k{kkfFkZ;ksa rd iqLrdsa vf/kd lqyHk cukrh gSA
(2)	 v/;kid ij vf/kd cks> ugha Mkyrh gSA
(3)	 d{kk esa fofo/krk vkrh gS vkSj cPpksa dks fofo/krk cgqr ilan 

gSA
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(4)	 ;g v/;kidksa dks vkdyu ds fy, fofHkUu iqLrdksa dk iz;ksx 
djus dh Lok;Ùkrk nsrh gSA

149.	iBu lh[kus esa lcls cM+h pqukSrh izsj.kk vkSj vPNk ckylkfgR; 
ikus dh gSA bl pqukSrh dks nwj djus ds fy,&
(1)	 cky lkfgR; dh ljyrk ls miyC/krk ftlls iBu ds fy, 

izksRlkgu vkSj #fp iSnk gksA
(2)	 fo|ky; ds vf/kdkfj;ksa dks pkfg, fd os cPpksa dks iqLrd 

esys ys tk;k djsa ftlls fd os iqLrdsa i<+us ds fy, izksRlkfgr 
gksa vkSj #fp iSnk gksA

(3)	 v/;kidksa dks x`gdk;Z ds :i esa izfrfnu ,d iqLrd i<+us ds 
fy, vfHkizsfjr djuk pkfg,A

(4)	 vfHkHkkodksa dks vius ?kj esa ,d NksVk lk iqLrdky; cukus 
ds fy, izksRlkfgr djuk pkfg,A

150.	,d vPNh okpu (cksyuk) xfrfof/k og gS ftlesa%
(1)	 f'k{kkFkhZ vf/kd ckrphr djrs gSaA
(2)	 vf/kdka'kr% eq[kfjr fo|kfFkZ;ksa dh gh lgHkkfxrk jgrh gSA
(3)	 v/;kid vf/kd O;k[;k djrs gSaA
(4)	 f'k{kkFkhZ vf/kd lqurs gSaA
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Paper-1 
21st January, 2024

CTET Solved Paper 
(Answers with Explanation)

Child Development and 
Pedagogy

1.	 Option (3) is correct.
Explanation:  School curriculum 
should give reasonable space and 
value to learners’ cultural knowl-
edge and diversity in a classroom, 
supporting their cultural iden-
tities to facilitate learning. By 
adopting culturally responsive 
learning, the understanding of 
cultural diversity will be easily 
understood by students accept-
ing the diversity.

2.	 Option (4) is correct.
Explanation: Socio-constructiv-
ist views of learning advocate 
that learners actively construct 
knowledge.
•	 Constructivist Classrooms 

allow learners to construct 
knowledge and understand-
ing of concepts based on their 
experiences. In a Construc-
tivist Classroom, students ac-
tively participate in the teach-
ing-learning process. Teachers 
play an essential role in the 
teacher in the process, where 
he/she acts as a facilitator. In 
this kind of setup, students 
working in groups emphasiz-
ing collaborative and coopera-
tive learning.
�� Allows learners to foster 

their learning abilities.
�� Teachers provide ample op-

portunities to students that 
encourage them to learn 
from their personal expe-
riences.

�� Give primacy to peer tutor-
ing, self-assessment, group 
activity, and discussion.

3.	 Option (3) is correct.
Explanation: Learning is a life-
long and continuous process in 
an individual life to develop an 
understanding of the world we 
live in. A series of steps are de-
signed to lead to a particular goal 

or outcome to be achieved. Thus, 
learning is a process rather than 
a product.

4.	 Option (4) is correct.
Explanation: In the course of 
development, children achieve 
gross motor skills before fine mo-
tor skills. This indicates that de-
velopment is cephalocaudal.
•	 Cephalocaudal is described as 

the development of a child, 
where his/her development 
starts from head to toe. Firstly, 
a child can control his/her head 
and then control reach to other 
parts of the body farther from 
the head. For example, infants 
may use their upper limbs be-
fore their lower limbs.

5.	 Option (4) is correct.
Explanation: Reasoning, think-
ing and problem-solving are ex-
plained in Cognitive aspect of 
development.
•	 A Swiss biologist, and Psy-

chologist Jean Piaget, devel-
oped a four-stage Theory of 
Cognitive Development, stat-
ing every child thinks differ-
ently at different periods in 
their life. A child’s intelligence 
level changes throughout his 
/her childhood and his/her 
cognitive skills – memory, 
thinking skills, problem-solv-
ing abilities, logical-reasoning 
abilities, attention span, read-
ing – writing – and listening 
skills grows when the child 
grows and interacts with their 
environment.

•	 All mental abilities will comes 
under the cognitive develop-
ment.

6.	 Option (2) is correct.
Explanation: After getting ‘out’ of 
the game due to the rope getting 
stuck in her leg while jumping 
Aru says that the rope deliberate-
ly got her out. At the pre-opera-
tional stage of Jean Piaget’s The-

ory of Cognitive Development 
children do like this.
•	 Jean Piaget, a Swiss biologist, 

and Psychologist a four-stage 
Theory of Cognitive Devel-
opment, (viz. Sensorimotor 
Stage, Pre-operational Stage, 
Concrete Operational Stage, 
and Formal Operational stage). 
Piaget proposes that pre-oper-
ational stage of children (2-7 
years) where they are unable to 
conserve. At this stage, a child 
faces issues with
�� inability to irreversibility of 

thought,
�� egocentric thinking and
�� idea of centration

7.	 Option (2) is correct.
Explanation: Proximodistal 
principle states that in infancy 
physical development occurs 
rapidly with the development of 
fine motor skills.
•	 Proximodistal Trend is 

described as the development 
of a child starting from the 
centre of the body and moving 
towards the outward parts of 
the body. For example, infants 
use their arms before they can 
use their fingers effectively.

8.	 Option (3) is correct.
Explanation: Based on previous 
knowledge, learners construct 
their knowledge and try to 
find patterns and linkages 
between already-known facts 
or information that help and 
individual to process information 
meaningfully.

9.	 Option (3) is correct.
Explanation: Child Develop-
ment is universal regardless of 
geographical location, ethnicity, 
language background, socioeco-
nomic status, and cultural differ-
ences.

10.	 Option (3) is correct.
Explanation: Lawrence Kohl-
berg’s proposed ‘Stages of Mor-



Paper-1: 2024 �  29

al Development’ by extending 
the ideas of Jean Piaget’s theory. 
Kohlberg theory includes three 
levels and six stages in his Moral 
Development Theory. In Law-
rence Kohlberg's moral develop-
ment theory
•	 children move from under-

standing the consequences of 
acts to determine whether they 
are good or bad to understand-
ing that rules and laws are 
flexible and can be changed. 
Reason

•	 Lawrence Kohlberg argues 
that moral development occurs 
progressively in stages.

11.	 Option (2) is correct.
Explanation: Inclusive education 
value diversity and allow equal 
opportunities for all kinds of 
learners to learn and grow.
•	 Improves the quality of educa-

tion and makes provision for 
education for all irrespective of 
learners’ disabilities, socio-cul-
tural differences, economic 
differences, psychological dif-
ferences, etc.

Thus, an inclusive classroom 
centers around: “fixed curricular 
and standard assessment” is an 
incorrect statement.

12.	 Option (4) is correct.
Explanation: Lev Vygotsky pro-
poses that inner speech is impor-
tant for self-regulation in chil-
dren. As Lev Vygotsky believed, 
private speech (or inner speech) 
is the use of language by an indi-
vidual for his/her self-regulation 
of behavior.

13.	 Option (4) is correct.
Explanation: As per Jean Piaget’s 
theory of cognitive development, 
decentering ability distinguishes 
concrete operational thinking 
from pre-operational thinking.
•	 Decentering involves an indi-

vidual ability to pay attention 
to multiple attributes of a sit-
uation or an object rather than 
emphasizing only one attrib-
ute of a situation or object. For 
example, if a child’s favorite 
hobby is riding a bike, it would 
not necessarily mean that the 
people around them also pre-

fer biking instead of walking or 
riding a scooter.

14.	 Option (4) is correct.
Explanation: Questions that ask 
for the student’s personal opinion 
help to assess a student’s ability 
to evaluate information critically. 
This is so because, by asking for 
personal opinions about some 
topic, students' understanding 
can be identified easily.

15.	 Option (4) is correct.
•	 Cognition is a process of 

acquiring knowledge through 
experiences whereas.

•	 Emotion is the mental state of 
an individual associated with 
feelings (fear, anger, love, etc).

Cognition and emotions are in-
terdependent and affect one an-
other in many ways, emotions 
can affect the cognition process 
(attention, decision-making abil-
ity, and memory) of an individual 
and on the other hand, cognition 
can impact individual emotional 
experiences and expression.

16.	 Option (3) is correct.
Explanation: Language devel-
opment in primary classes is fa-
cilitated when teachers use con-
crete examples to refer to abstract 
concepts. A concrete example is 
an example where students use 
their senses to understand ab-
stract concepts.

17.	 Option (3) is correct.
Explanation: According to the 
attribution theory of motivation, 
internal attribution for success 
and an internal attribution for 
failure are more likely to result in 
persistent effort and improved 
performance.
•	 According to attribution theo-

ry, an individual’s efforts and 
performances will be improved 
when they attribute success to 
internal factors such as their 
efforts and abilities rather than 
being dependent on external 
factors such as circumstances 
and luck. Thus, internal factors 
foster one’s motivation and a 
belief in individuals’ ability to 
influence outcomes.

18.	 Option (3) is correct.
Explanation: The inclusion 
of students belonging to 

disadvantaged groups demands 
awareness and sensitization 
towards diverse traditions.
•	 Inclusion in education means 

education for all children in 
school irrespective of their 
backgrounds, social and 
cultural differences, economic 
status, or belonging to the 
especially abled category.

19.	 Option (2) is correct.
Explanation: While participating 
in a sports competition in class, 
Tanuj tells his friend that he will 
participate in the javelin throw 
and that his sister can participate 
in jump rope because she is a 
girl and girls cannot throw the 
javelin. This depicts Gender 
Stereotyping.
•	 Gender stereotypes are pre-

conceived and generalized 
notions about specific gender 
characteristics, behaviour, and 
traits.

20.	 Option (4) is correct.
Explanation: A typical charac-
teristic of Dyslexia is difficulty in 
phonological processing.
•	 Dyslexia is a learning disability, 

related to difficulties faced to 
recognize and comprehend 
written words. Individuals who 
have dyslexia face challenges 
in writing and spelling (face 
issues while connecting letters 
and word recognition) and 
remembering facts (poor 
decoding facts abilities).

21.	 Option (3) is correct.
Explanation: Problem-solving is 
fostered by Divergent thinking.
•	 Divergent thinking enhances 

one’s understanding of a 
problem by thinking about its 
multiple solutions. By using 
creative and open-ended 
approaches, a single solution 
can be drawn by an individual 
by brainstorming his/her 
thinking abilities.

22.	 Option (3) is correct.
Explanation: While divergent 
thinking encourages multiple 
answers, convergent thinking is 
fixed on one correct solution.
•	 Divergent thinking (Thinking 

in different direction): This 
type of thinking enhances 
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one’s understanding towards 
a problem by thinking about 
its multiple solutions.

•	 Convergent Thinking 
(thinking in one direction): 
This type of thinking focuses 
only on one solution to a 
problem.

23.	 Option (1) is correct.
Explanation: An assessment task 
that helps compare students as 
per a standard set of criteria is 
not a characteristic of formative 
assessment as it is an example of 
criterion-referenced assessment.
•	 Formative Assessment: This 

type of assessment provides 
immediate feedback to learners 
about what they have learned.

•	 Criterion-referenced as-
sessment: This type of as-
sessment measure student’s 
performances against a prede-
termined criterion.

24.	 Option (2) is correct.
Explanation: A characteristic of 
effective feedback in the class-
room is it is timely and specific. 
This is so because, when feed-
back is specific then students can 
understand properly what their 
teacher is asking them and from 
them. Moreover, effective feed-
back is when it is given timely as 
it facilitates greater learning and 
leads to better learning.

25.	 Option (1) is correct.
Explanation: From the above op-
tions and considering, Howard 
Gardner’s Theory of Multiple In-
telligence, Musical: performance 
or composition skills is the correct 
match of intelligence and associ-
ated characteristics.
•	 In the 1980s, a psychologist, 

Harvard Gardner proposed 
‘The Theory of Multiple Intel-
ligence’, which explains that 
people aren’t born with inborn 
intelligence, instead different 
types of intelligence may exist 
in different individuals. There 
are eight types of intelligence 
as described by Harvard Gard-
ner, which are Virtual-Spatial 
Intelligence, Linguistic-Verbal 
Intelligence, Logical–Mathe-
matical Intelligence, Bodily – 

kinesthetics Intelligence, Musi-
cal Intelligence, Interpersonal 
Intelligence, Intrapersonal In-
telligence, and Naturalistic In-
telligence.

26.	 Option (4) is correct.
Explanation: Intrinsic motivation 
is correctly described as motiva-
tion that comes from personal 
enjoyment of the task.
•	 Intrinsic motivation is an act of 

motivation where an individu-
al performs a certain behavior 
or action for his/her inherent 
satisfaction rather than desir-
ing an award or reward from 
an external environment or 
sources.

27.	 Option (2) is correct.
Explanation: In the context of 
progressive education, learning 
should be based on authentic 
tasks. As in progressive educa-
tion, emphasis is on learning by 
doing, thus by performing au-
thentic tasks, students can learn 
themselves.
•	 Progressive Education was 

introduced by John Dewey, it 
is an educational setup where 
students gain knowledge by 
engaging themselves with ac-
tive hands-on learning expe-
riences through various pro-
jects, performing experiments, 
and actively collaborating 
with peers. In progressive ed-
ucation, a teacher ensures the 
holistic development of the 
child, so each child learns at 
their own pace and rate with 
the task given to be performed.

28.	 Option (3) is correct.
Explanation: Impairment is a bio-
logical condition, while disability 
is a functional condition.
•	 Impairment is a biological con-

dition as it is a condition where 
a part of a person’s mind or 
body is not working appropri-
ately.

•	 Disability is a functional situa-
tion as any kind of impairment 
(body or mind) in the human 
body makes it difficult for a 
person to interact with other 
people and impacts the per-

formance while doing some 
specific activities.

29.	 Option (4) is correct.
Explanation: Scaffolding occurs 
when the right kind of support 
is provided by the teacher in the 
right amount at the right time to 
increase a learner's competence. 
Following are some examples of 
scaffolding:
•	 Think – aloud: Here, a teach-

er verbalizes his/her ideas or 
thought process while solving 
a problem, in doing so he/she 
models the steps of students to 
find answers.

•	 Prompts and cues: If a student 
knows the answer or is strug-
gling to find a solution to the 
problem then the teacher pro-
vides some hints and indica-
tions towards the right answer 
or solution.

•	 Questions: Teachers ask a se-
ries of questions from students 
that will encourage them to 
answer questions themselves.

Whereas, half-solved examples 
and rote rehearsals aren’t includ-
ed in examples of Scaffolding 
as there is no scope for learning 
or mastering new skills in half-
solved solutions and rote mem-
orized rehearsals.

30.	 Option (4) is correct.
Explanation: According to Kohl-
berg’s Theory of Moral Develop-
ment, at the second stage in the 
first level children are self-cen-
tered and see their benefit in do-
ing something.
•	 At this stage, children are ma-

ture enough to view, under-
stand, and judge other indi-
vidual’s needs and wants, this 
is the reason they accept dif-
ferences of opinion but make 
decisions based on their self-in-
terest and rewards. Moreover, 
children recognize that there 
isn’t just one correct point of 
opinion but it’s okay to have 
different perspectives towards 
the same situation.
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Maths & Science

31.	 Option (2) is correct.
Explanation:  1 is neither prime 
nor a composite number.

	 A prime no. is a whole number 
with exactly two factors 1 and 
the number itself Ex: 2, 3, 5, .....
Composite no. have more than 
two factors Ex : 4, 6, 8,....

32.	 Option (1) is correct.
Explanation:  Degrees in one 
right angle = 90°

	 Degree in 
2

2
3

 or 
8
3

 right angle
8
3

 × 90° = 8 × 30 = 240°

33.	 Option (4) is correct.
Explanation:  Properties of regu-
lar polygons

	 (i) All its side are equal
(ii) All its interior angles are equal

	 (iii) The sum of its exterior angle 
is 360°

34.	 Option (2) is correct.
Explanation:  The parcel weights 
350 gm
50 gm weighs = ` 15

	 For every additional 50 gm 
= ` 7
so 50 gm + 50 × 6 gm = 350 gm

	 ` [15 + 7 × 6 = 15 + 42 = ` 57]
35.	 Option (4) is correct.

Explanation:  It hampers the 
learning of child as it leads to 
confusion

36.	 Option (3) is correct.
Explanation: 	According to NCF 
2005
(i) To develop the power of think-
ing and reasoning

	 (ii) To solve mathematical prob-
lesm of daily life.
(iii) To develop spatial thinking 
and reasoning.

	 (iv) To give clarity on fundamen-
tal concepts.

37.	 Option (1) is correct.
Explanation:  Thoughtful efforts 
of a teacher to expose children to 
cognitive.

	 Conflict can enhance their math-
ematical understanding.

38.	 Option (3) is correct.
Explanation:  Mathematical lab is 
essential as it provide opportu-

nities for hands on activities for 
students.

39.	 Option (4) is correct.
Explanation:  From results 
3 number occurs maximum 
number of times.

40.	 Option (3) is correct.
Explanation:  Word problem is a 
mathematical exercise where sig-
nificant background information 
on the problem is presented in 
ordinary language rather than in 
mathematical notation.

41.	 Option (2) is correct.
Explanation:  9909 + 9099 + 9009 
= 28017

	 28017 – 25454 = 2563
42.	 Option (4) is correct.

Explanation:  1mm = 0.1 cm
	 1 mm = 0.001 m
43.	 Option (1) is correct.

Explanation: Common divisible 
factor of 3 and 7 is 378 (check 
option) by or common multiple 
of 3 and 7 is 378.

44.	 Option (4) is correct.
Explanation:  To develop the con-
ceptual understanding regarding 
the relationship of ones, tens and 
hundreds in early grade learners 
are

	 (i) Abacus (ii) Plane Chart Value
(iii) Dienes blocks.

45.	 Option (2) is correct.
Explanation:  Let x be the no. of 
packets

	

1 15
12 2

x =

x = 
15
2

 × 12 ⇒ 15 × 6

x = 90 packets	
46.	 Option (4) is correct.

Explanation:  Regrouping means 
rearranging numbers into groups 
by place value to make it easier to 
carry out operations.

47.	 Option (1) is correct.
Explanation:  Matching leads to 
understanding the concepts of 
one-to-one- correspondance, 
Hierarchical inclusion is a 
counting principle sometimes 
referred to as the cardinal 
principle which is also related to 
early number concept formation 
in children.

48.	 Option (2) is correct.
Explanation:  Formal exmination 
to assess the knowledge role 
gained by the students is not 
included NEP 2020.

49.	 Option (4) is correct.
Explanation:  
25.3 × 5 – 35 ÷ 5 – 3 × 18.5

	 = 126.5 – 7 – 55.5
= 126.5 – 62.5

	 = 64.0

50.	 Option (4) is correct.
Explanation:  It we introduce 
Data Handling at primary stage 
then we collect data related to 
students and classroom. Ex: 
Student's height, favourite food, 
colour, cartoon, toys, etc.

51.	 Option (4) is correct.
Explanation:  It includes the over-
all development of the learner, it 
covers all three aspects as cogni-
tive domain, affective domain, 
and psychomotor domain.

52.	 Option (1) is correct.
Explanation:  Biggest area of the 
land is 25 m × 25 m = 625 m2

53.	 Option (2) is correct.
Explanation:  Discourage induc-
tion as its hampers the develop-
ment of mathematical ideas is 
least appropriate for encouraging 
mathematical learning from giv-
en learning situations.

54.	 Option (4) is correct.
Explanation:  Let x be the no.

	 According to question
x + 8 = 2x ⇒ 8 = 2x – x

	 then, x = 8

55.	 Option (4) is correct.
Explanation:  
Least costs : 7.5 × 750 = 5,625

56.	 Option (1) is correct.
Explanation:  The main feature 
of mathematical language is sim-
plicity, accuracy and precision.

57.	 Option (3) is correct.
Explanation:  Validity is aspect of 
evaluation is used to ensures the 
fulfilment of objectives.

58.	 Option (2) is correct.
Explanation:  1 = 13, 23 = 8, 
33 = 27, 43 = 64, 53 = 125, 63 = 216, 
73 = 343, .....
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59.	 Option (1) is correct.
Explanation:  The sum of all 
angles of a triangle is 180°.

60.	 Option (4) is correct.
Explanation:  Regrouping is done 
by making groups of tens during 
operations like subtraction and 
addition. Regretring means 
rearranging numbers into groups 
by place value to make it easier to 
carry operations.

Environmental Studies

61.	 Option (3) is correct.
Explanation: A female silkworm 
moth (Bombyx mori) attracts 
male mates with the phero-
mone bombykol, which is spread 
through the air. A male silk-
worm, located many kilometers 
away, can identify these particles 
and fly toward their source.

62.	 Option (3) is correct.
Explanation: Conversation fos-
ters clear objectives and a specific  
arrangement for every meeting. 
Showings are helpful for work-
ing with and creating learning, 
they enhance student interest in 
the examples and provide edu-
cators a more prominent assort-
ment of educational devices.

63.	 Option (1) is correct.
Explanation: Peer learning is 
the process of students gain-
ing knowledge with and from 
one another. This is generally 
achieved through teaching and 
learning activities, such as stu-
dent-led studios, focus groups, 
shared learning partnerships, 
and group work.

64.	 Option (2) is correct.
Explanation: Pochampalli is 
a saree made in Bhoodan Po-
champally, Yadadri Bhuvanagiri 
district, Telangana State, India. 
They have traditional geometric 
patterns in "Paagadu Bandhu" 
style of dyeing. The intricate ge-
ometric designs find their way 
into sarees and dress materials. 

65.	 Option (3) is correct.
Explanation: In this EVS curric-
ulum, children at the Primary 
Stage are expected to develop 
awareness about immediate/
wider surroundings through 

lived experiences on various 
themes related to daily life for 
example Plants, Animals, Food, 
Water, Travel, and Shelter etc.

66.	 Option (1) is correct.
Explanation: Evaluation meth-
odologies, it empowers students 
to apply what they have realized 
in the homeroom to genuine cir-
cumstance while likewise per-
mitting educators to follow the 
advancement of kids after some 
time.

67.	 Option (1) is correct.
Explanation: As an EVS teacher, 
you should ask the students to 
identify the animals, but the kids 
not classify animals into catego-
ries.

68.	 Option (3) is correct.
Explanation: Xylem’s main re-
sponsibility is the transport of 
water and dissolved ions from 
the roots upwards through the 
plant. Phloem, on the other 
hand, is a living tissue that trans-
ports food made in the leaves to 
other parts of the plant. Xylem 
and phloem are both vascular 
tissues in plants, aiding in the 
conduction of minerals, nutri-
ents, and water. They are also 
referred to as conduction tissues.

69.	 Option (4) is correct.
Explanation: These types of ac-
tivities develop skills and knowl-
edge about the agricultural envi-
ronment. Students learn how to 
grow crops and the importance 
of nature and food.

70.	 Option (2) is correct.
Explanation: The 6 themes of 
EVS at the primary level are fam-
ily and friends, food, shelter, wa-
ter, travel, and things we make 
and do. Environmental Studies 
at the primary stage envisages 
exposing children to the real sit-
uations in their surroundings to 
help them connect, be aware of, 
appreciate and be sensitized to-
ward prevailing environmental 
issues (natural, physical, social 
and cultural).

71.	 Option (2) is correct.
Explanation: Diagnose malaria, 
doctor will likely review your 
medical history and recent trav-
el, conduct a physical exam, and 

order blood tests. Blood tests can 
indicate: The presence of the par-
asite in the blood, to confirm that 
you have malaria. Which type of 
malaria parasite is causing your 
symptoms.

72.	 Option (1) is correct.
Explanation: The recommen-
dation of NCF 2005 of linking 
student life at school to their life 
outside. Textbooks supports stu-
dents to construct knowledge 
through all the given activities.

73.	 Option (2) is correct.
Explanation: Gadsisar Lake was 
built as a water reservoir way 
back in the 14th century by the 
founding Rajput ruler of Jaisalm-
er, Rawal Jaisal, but today, it is not 
used. Today Gadsisar Lake is the 
most attractive tourist hotspot in 
Jaisalmer.The lake is named after 
Maharaja Gadsi Singh, who re-
vamped the lake to make it more 
beautiful. There are temples, 
chhatris, shrines, and ghats, all 
along the banks of the lake, mak-
ing it look beautiful.
The calm waters of the lake make 
it perfect for boating and photo-
graphing wonderful scenic vis-
tas and mind-blowing sunrise & 
sunset views. Birds can be seen 
wading on the waters, and flying 
in the azure skies above.There 
are catfish in the lake as well, 
whom you can feed.

74.	 Option (3) is correct.
Explanation: The major objec-
tive of EVS teaching-learning is 
to enable children to learn about 
the environment by developing 
an awareness of the natural, so-
cial and cultural environment.

75.	 Option (4) is correct.
Explanation: Yes, the lemon 
would float in water containing 
excess salt. This is because water 
gets heavier when salt has been 
added in excess amount. And 
lemon (lighter in weight) will 
be able to float on heavier water. 
When salt is added to water, the 
water gets heavy. As compared 
to a lemon, the salty water is 
heavier. So, the lemon that is 
lighter floats on salt water that is 
heavier.



Paper-1: 2024 �  33

76.	 Option (2) is correct.
77.	 Option (1) is correct.

Explanation: Enquiry-based lear-
ning is a type of active learning 
that encourages students to ask 
questions, conduct research, 
and explore new ideas. This 
approach to learning helps stu-
dents develop critical thinking, 
problem-solving, and research 
skills.

78.	 Option (3) is correct.
Explanation: Bora is a variety of 
glutinous rice found in Assam, 
India. It plays an important role 
in Assam and for indigenous 
Assamese. During traditional oc-
casions like Bihu, this variety of 
rice is eaten with served with doi 
(curd), gur (jaggery) and cream. 
Clayey soils have a higher capac-
ity of holding water as compared 
to sandy soil. The percolation 
rate of clayey soil is very low, 
which means that very less wa-
ter seeps through the soil. This 
makes it most suitable for the 
cultivation of paddy.

79.	 Option (3) is correct.
Explanation: In contemporary 
literary studies, a theme is a cen-
tral topic, subject, or message 
within a narrative. Themes can 
be divided into two categories: a 
work's thematic concept is what 
readers "think the work is about" 
and its thematic statement is 
“what the work says about the 
subject.”

80.	 Option (1) is correct.
Explanation: Al-Biruni said that 
the people in India are very 
skilled at making ponds. They 
pile up huge rocks and join them 
with iron rods to build chabut-
aras (raised platforms) all around 
the lake. Between these, there 
are rows of long staircases, go-
ing up and down. The steps for 
going up and coming down are 
separate. There is less crowding.

81.	 Option (3) is correct.
Explanation: A johad is a small 
earthen check dam that stores 
and conserves rainwater. Johads 
are also known as percolation 
ponds or pokhars. Johads are 
used in the states of Haryana, 
Rajasthan, Punjab, and western 

Uttar Pradesh in North India. 
Johads serve as water reservoirs 
during dry months and improve 
groundwater recharging and 
percolation. They supply water 
to farms, drinking wells, and 
wells that have run dry.

82.	 Option (1) is correct.
Explanation: Mass of object is 
36 g.

83.	 Option (3) is correct.
Explanation: Because at high 
altitudes, there is a decrease in 
atmospheric pressure. As atmos-
pheric pressure decreases, wa-
ter boils at lower temperatures. 
Because water boils at a lower 
temperature at higher eleva-
tions, foods that are prepared by 
boiling or simmering will cook at 
a lower temperature, and it will 
take longer to cook.

84.	 Option (1) is correct.
Explanation: The male weaver 
bird makes beautifully woven 
nests. The female looks at all the 
nests and chooses the one that 
she likes the best and decides in 
which to lay her eggs.

85.	 Option (3) is correct.
Explanation: The theme "Fam-
ily and Friends" has two sub-
themes: Relationships and Work 
and Play. These sub-themes can 
help children understand their 
bodies as part of their "self."

86.	 Option (3) is correct.
Explanation: The major objective 
of EVS teaching-learning is to en-
able children to learn about the 
environment by developing an 
awareness of the natural, social, 
and cultural environment. These 
types of activities help students 
interact with their neighborhood 
and understand the importance 
of water saving.

87.	 Option (3) is correct.
Explanation: Haryana is a state 
which lies in the northern re-
gion of India. Haryana shares 
its borders with Punjab, Him-
achal Pradesh, Rajasthan, Uttar 
Pradesh, Uttarakhand, and Del-
hi.

88.	 Option (1) is correct.
Explanation: A Queen Bee will 
lay 800,000 eggs in her lifetime. A 

male honeybee is called a drone. 
Drones are vital for the survival 
of honeybee colonies. Their pri-
mary role is to mate with a recep-
tive queen honeybee.

89.	 Option (2) is correct.
Explanation: The elementary 
level aims to expose children to 
real-life events to help them con-
nect classroom learning to life 
outside the school. To help chil-
dren develop their own insights 
into the workings of various 
things or in comprehending hu-
man processes in their surround-
ings.

90.	 Option (3) is correct.
Explanation: The Indus Valley 
Civilization, also known as the 
Harappan Civilization, marks 
the birth of Indian History. The 
Indus Valley was home to the 
largest of the four ancient urban 
civilizations of Egypt, Mesopota-
mia, India and China.
The Ganges allowed civilizations 
to develop and flourish along 
the waterway for centuries. It is 
the civilization of the Vedic pe-
riod. The arrival of the Aryans 
coincided with the introduction 
of the Vedic script. The Vedas 
originated from this time, and 
the Ganges civilization is often 
called the Vedic period.

Language-I: English

91.	 Option (1) is correct.
Explanation: Statement one says 
she was not properly dressed 
which is correct, since it is men-
tioned that her dress seems to be 
thrown over herself, statement 
b is wrong since she doesn’t 
look like the mother of a guilty 
person. Statement third is right 
since Mr Carr was expecting her 
to be angry but she was calm. 

92.	 Option (2) is correct.

	 Explanation: In the given con-
text, "that" is used to introduce 
a subordinate clause, connecting 
the main clause with the infor-
mation that follows. It functions 
as a conjunction linking the de-
scription of Mrs. Higgins' calm-
ness and dignity with the fact 
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that her clothes seemed to have 
been thrown on her.

93.	 Option (1) is correct.
	 Explanation: The text does not 

suggest that Alfred's mother felt 
intimidated by Mr. Carr’s accu-
sation. Instead, it describes her 
response as calm, dignified, and 
understanding. Therefore, state-
ment 1 is not accurate according 
to the information provided in 
the passage.

94.	 Option (2) is correct.
	 Explanation: The text doesn't 

provide information about Mr. 
Carr’s feeling that he would 
have to forgive Alfred. The nar-
rative describes Mrs. Higgins' in-
troduction, the revelation of Al-
fred's actions, and the reactions 
of Mr. Carr and Mrs. Higgins, but 
Mr. Carr's feelings of forgiveness 
are not explicitly mentioned.

95.	 Option (4) is correct.
	 Explanation: In this context, 

"what to say to her" acts as the 
direct object of the verb "knew." 
It represents the content or the 
idea of what he hardly knew, 
and therefore, it functions as a 
noun clause.

96.	 Option (3) is correct.
Explanation: Statement a men-
tions Mr. Carr intending to get 
Alfred arrested, which is sup-
ported by the text. However, 
statement b suggests that Mrs. 
Higgins wanted him to be given a 
chance to reform himself, which 
is not explicitly mentioned in the 
provided text. Therefore, option 
3 is the correct choice.

97.	 Option (4) is correct. 
Explanation: In this context, "wa-
vered" describes the action of her 
blue eyes not hesitating or not 
showing uncertainty. It indicates 
that her gaze remained steady 
and unwavering.

98.	 Option (2) is correct.
	 Explanation: The text mentions 

that Mrs. Higgins' calm and dig-
nified demeanour surprised Mr. 
Carr and made him feel a bit em-
barrassed. The surprise and un-
expected nature of her reaction 
suggest that Alfred, upon look-
ing at his mother, might have 

been shocked by her composed 
response to the situation.

99.	 Option (3) is correct. 
	 Explanation: "Humility" refers 

to a modest or low view of one’s 
importance, while "pride" is the 
opposite, indicating a feeling of 
satisfaction or pleasure in one's 
achievements or qualities.

100. Option (4) is correct.
	 Explanation:In the line "All the 

world’s a stage," William Shake-
speare is using a metaphor to 
convey the idea that life can be 
likened to a theatrical stage. In 
this metaphor, he equates the en-
tire world to a stage, and people 
to actors or players who perform 
different roles at various stages 
of their lives. The metaphor sug-
gests that, like actors on a stage, 
individuals go through distinct 
phases or "acts" as they progress 
through the different stages of 
life. This vivid comparison em-
phasizes the performative and 
transient nature of human exist-
ence.

101.	Option (1) is correct.
	 Explanation: The figure of 

speech used in the phrase "their 
exits and entrances" is personifi-
cation. This is because it attrib-
utes human qualities (specifical-
ly, the actions of entering and 
exiting) to non-human entities 
(the world or life itself).

102.	Option (1) is correct.
	 Explanation: The quoted line 

“And then the lover, Sighing 
like furnace”, is taken from the 
poem, “The Seven Ages”, by Wil-
lam Shakespear. In these lines, 
the poet explains, that a men fall 
in love as soon as he reaches ad-
olescence. His passion for love is 
activated like the heat generated 
in a furnace. However, his pas-
sion also declines after crossing a 
certain age.

103.	Option (4) is correct.
	 Explanation:  The line "Jealous in 

honour" suggests that the soldier 
is highly protective and sensitive 
about his honor. In this context, 
"jealous" does not refer to envy 
of others but rather implies a 
vigilance and fervent dedication 

to maintaining one's honor. The 
soldier is portrayed as someone 
who takes great pride in his rep-
utation and is quick to defend it, 
indicating a strong sense of per-
sonal dignity and integrity.

104.	Option (3) is correct.
	 Explanation: The passage de-

scribes life as a stage, and all men 
and women are likened to play-
ers who perform different roles 
at different stages of their lives. 
The idea is that individuals go 
through various phases and play 
different parts or roles, empha-
sizing the diversity of experienc-
es and responsibilities that peo-
ple encounter throughout their 
lives.

105.	Option (3) is correct. 
	 Explanation: The passage de-

scribes the schoolboy as "whin-
ing" and "creeping like snail un-
willingly to school," indicating 
that the schoolboy is not enthu-
siastic about going to school and 
may find it a bit of a chore.

106.	Option (2) is correct.
	 Explanation: Libraries are places 

for reading and enjoying books 
quietly. They are not typically 
meant for reading textbooks out 
loud, as libraries aim to provide 
a calm and focused environment 
for silent reading without distur-
bance.

107.	Option (1) is correct. 
	 Explanation: The Direct Meth-

od is the one that doesn't want 
a teacher to use their native 
language in class. It focuses on 
teaching a new language direct-
ly using that language. It avoids 
translating and encourages us-
ing the new language as much 
as possible. Other methods may 
allow using your native lan-
guage, but the Direct Method 
prefers constant use of the new 
language for learning.

108.	Option (1) is correct.
	 Explanation: Being literate in-

volves the ability to decode 
written words (understand the 
sound-symbol relationship) and 
comprehend the language used 
in written text. Therefore, mas-
tering both decoding (the ability 
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to sound out words) and lan-
guage comprehension (under-
standing the meaning of words 
and sentences) is crucial for liter-
acy.

109.	Option (1) is correct. 
	 Explanation: Creating an inclu-

sive, welcoming, and joyful en-
vironment that supports every 
child's participation and achieve-
ment involves showcasing the 
diversity of children's work from 
various developmental domains. 
This not only celebrates individ-
ual accomplishments but also 
reinforces the idea that every 
child's unique strengths and 
abilities are valued. It promotes a 
sense of belonging and inclusivi-
ty.

110.	Option (4) is correct. 
	 Explanation: The Communica-

tive Method focuses on develop-
ing the learner's ability to use the 
language for communication in 
real-life situations. It emphasiz-
es practical language skills and 
encourages learners to interact 
with others in the target lan-
guage.

111.	Option (1) is correct. 
	 Explanation: Proofreading in-

volves reviewing and checking a 
document for errors or accuracy 
before final submission. When 
a document is in the final stage 
of the writing process, a writer 
examines the final draft to iden-
tify the errors that can occur in 
the form of grammatical errors, 
spelling mistakes, punctuation 
marks, and formatting.

112.	Option (4) is correct. 
	 Explanation: This question fo-

cuses on the suitability of the 
books for the target audience, 
ensuring that the content is at a 
level that most students in the 
class can read independently. It 
addresses the crucial aspect of 
matching the reading material to 
the student’s proficiency, which 
is essential for fostering a posi-
tive and successful reading expe-
rience.

113.	Option (2) is correct. 
	 Explanation: While involving 

children in creating materials 

can be a valuable and engaging 
activity, the criterion stating, ma-
terial should be made by the chil-
dren only and have some rough-
ness to avoid slipperiness is not 
universally applicable.

114.	Option (4) is correct. 
	 Explanation: This type of activity 

enhances Controlled Oral Prac-
tice, where activities included by 
the teacher emphasize develop-
ing learner accuracy rather than 
focusing on fluency. Control 
oral practice activities encour-
age learners to practice various 
activities in a limited form while 
learning a new language.

115.	Option (2) is Correct.
	 Explanation: Phonics instruction 

is a method where the learner 
focuses on the connection be-
tween letters and sounds. This 
approach helps the learners de-
velop decoding skills and read-
ing fluency by understanding 
the systematic and predictable 
connections between written let-
ters and spoken sounds.

116.	Option (2) is correct. 
	 Explanation: Simply memorizing 

rules without practical applica-
tion in meaningful contexts may 
not lead to a deep understanding 
or application of grammar in real 
communication.

117.	Option (1) is correct. 
	 Explanation: According Nation-

al Curriculum Framework for 
Fundational Stage, the following 
are the principles for textbook 
designs that are useful guides 
to textbook development (5.5.3): 
Curriculum Principle, Discipline 
Principle, Pedagogy Principle, 
Technology Principle, Context 
Principle, Presentation Princi-
ple, and Diversity and Inclusion 
Principle.

118.	Option (4) is correct. 
	 Explanation: Children in the 

foundational stage are typically 
in a stage of active exploration 
and development. Engaging 
them in activities that involve 
multiple senses, such as touch, 
sight, and hearing, can enhance 
their understanding and reten-
tion of concepts. Additionally, 

allowing them to actively use 
their hands in learning activities 
promotes hands-on, experiential 
learning.

119.	Option (4) is correct. 
	 Explanation: While rhymes, 

songs, and chants can help with 
various aspects of language de-
velopment, the primary focus is 
not typically on memorizing spe-
cific words and sentence struc-
tures. Instead, these activities are 
often used to engage children 
playfully and rhythmically, fa-
cilitating instead of children in a 
playful and rhythmic way, facil-
itating the development of pro-
nunciation, expression, rhythm, 
and vocabulary.

120.	Option (2) is correct. 
	 Explanation: This activity is de-

signed to develop the skill of 
peer correction, where learners 
review and provide feedback on 
their peers' work. It promotes 
collaborative learning and helps 
students become more aware of 
language structures and errors.

Language-II: English

121.	Option (4) is correct. 
	 Explanation: Based on the pro-

vided passage, does mention that 
the Scarecrow found a tree full of 
nuts and filled Dorothy's basket 
with them, and Dorothy thought 
it was kind and thoughtful of 
the Scarecrow. Therefore, op-
tion 4, "He knows that the nuts 
are good for Dorothy," seems to 
align with the information in the 
passage.

122.	Option (3) is correct. 
	 Explanation: As mentioned in 

the paragraph, “for it enabled 
him to keep away from the fire, 
as he feared a spark might get 
into his straw and burn him up. 
So he kept a good distance away 
from the flames, and only came 
near to cover Dorothy with dry 
leaves when she lay down to 
sleep.”,  it is clear that Scarecrow 
was afraid for Dorothy that the 
Lion might kill her not him.

123.	Option (1) is correct. 
	 Explanation: As mentioned in 

the paragraph, “And the scare-
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crow found a tree full of nuts 
and filled Dorothy’s basket 
with them, so that she would 
not be hungry for a long time.” 
and “for it enabled him to keep 
away from the fire, as he feared 
a spark might get into his straw 
and burn him up. So he kept a 
good distance away from the 
flames, and only came near to 
cover Dorothy with dry leaves 
when she lay down to sleep.”,  it 
is clear that Statement (a) and (b) 
are correct.

124.	Option (4) is correct. 

	 Explanation: Statement a men-
tions that Dorothy was obliged 
to the Scarecrow, which is not 
explicitly supported by the in-
formation in the provided pas-
sage. Statement b suggests that 
the Scarecrow vanquished his 
hunger with nuts, but the pas-
sage doesn't specify whether 
the Scarecrow ate the nuts or 
if he intended to was to gather 
them for others. Statement c im-
plies that he gathered so many 
nuts that no one would remain 
hungry, but this is not explicitly 
mentioned in the passage. The 
passage does mention him gath-
ering nuts for Dorothy, but it 
doesn't specify that it was to the 
extent that no one would remain 
hungry.

125.	Option (4) is correct. 

	 Explanation: In the passage, 
"what it was" acts as a noun 
phrase, representing an uniden-
tified or unspecified thing. The 
phrase serves as the direct object 
of the verb "knew."

126.	Option (1) is correct. 

	 Explanation: "Snug" in this con-
text refers to making her com-
fortable and cozy, often warmly 
and securely.

127.	Option (2) is correct. 

	 Explanation: Statement 3 men-
tions that the Scarecrow was 
kind-hearted as he filled the bas-
ket with nuts. Statement 4 men-
tions that he helped Dorothy 
keep warm at night by covering 
her with dry leaves. Both state-

ments seem to be right therefore, 
option 2 is correct.

128.	Option (4) is correct. 

	 Explanation: In this context, "not" 
is used to modify the verb "be," 
indicating the negation of the 
action. As an adverb, it provides 
additional information how she 
would be (not hungry).

129.	Option (2) is correct. 

	 Explanation: An adverb is a word 
or phrase that modifies or de-
scribes a verb, adjective, or oth-
er adverb. In this case, "as I left 
the house" provides additional 
information about the timing or 
circumstance of when the first 
bird call was heard. Therefore, it 
acts as an adverb modifying the 
verb "heard."

130.	Option (3) is correct. 

	 Explanation: Statement a can be 
interpreted through the author’s 
statement that when he realised 
that different birds evoke differ-
ent emotions, and b is nowhere 
mentioned in the passage nor 
similar mining could be inter-
preted through any lines.  There-
fore statement a is right and b is 
wrong.

131.	Option (3) is correct. 

	 Explanation: "Belligerent" means 
showing hostility or a willing-
ness to fight. In this context, it 
suggests an aggressive or con-
frontational attitude, which 
aligns with the meaning of "hos-
tile."

132.	Option (2) is correct. 

	 Explanation: Adjectives describe 
or modify nouns. In this context, 
"exultant" is describing the type 
of laugh, making it an adjective.

133.	Option (1) is correct. 

	 Explanation: Different bird spe-
cies have distinct vocalizations 
during these times, and a bird-
er with sharp ears can use these 
sounds to identify and locate 
birds, enhancing the overall 
birdwatching experience.

134.	Option (4) is correct. 

	 Explanation: A birder is some-
one who observes, watches, and 

studies birds in their natural hab-
itats.

135.	Option (4) is correct. 
	 Explanation: Statement a does 

not provide information about 
the writer's approval or disap-
proval of the conduct of the Del-
hi people. Therefore, a is wrong. 
Statement b mentions Indian 
mynas being generally known 
for noisy quarrels, which is given 
in the passage. Statement c men-
tions a mynas couple enjoying 
themselves, which is also there 
in the passage. 

136.	Option (4) is correct. 
	 Explanation: Engaging in con-

stant contact with native speak-
ers in their society provides an 
immersive language learning ex-
perience. This approach allows 
learners to practice the language 
in authentic, real-life situations, 
enhancing both speaking and 
listening skills.

137.	Option (4) is correct. 
	 Explanation: Exposure to two 

languages, often referred to as 
bilingualism, is generally consid-
ered advantageous for children. 
Research suggests that bilingual-
ism can have cognitive, academ-
ic, and socio-cultural benefits. It 
does not typically confuse chil-
dren, it can enhance their ability 
to understand different linguis-
tic structures, improve cognitive 
flexibility, and foster communi-
cation skills in both languages. 
Therefore, being exposed to two 
languages is generally consid-
ered an advantage for children.

138.	Option (3) is correct. 
	 Explanation: The described 

teaching method aligns with the 
characteristics of the audio-lin-
gual method, which emphasizes 
repetition, memorization, and 
positive reinforcement. This 
method focuses on habit forma-
tion through the practice of lan-
guage patterns, often involving 
structured drills and exercises.

139.	Option (4) is correct. 
	 Explanation: Intensive reading 

involves a close and detailed 
examination of a text, focusing 
on comprehension, vocabulary, 
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and understanding specific de-
tails. Learners engage in careful 
analysis and often work on tasks 
designed to deepen their under-
standing of the text.

140.	Option (3) is correct. 
	 Explanation: This activity focus-

es on developing oral fluency by 
encouraging students to engage 
in spontaneous conversation 
and express their thoughts on 
the newspaper article. It pro-
motes the ability to communicate 
effectively, share ideas, and dis-
cuss topics without strict control 
over language forms, making it 
an example of oral fluency prac-
tice.

141.	Option (3) is correct. 
	 Explanation: Children’s cog-

nitive development and lan-
guage are closely related to the 
culture and the community in 
which children live. Lev Vygot-
sky supported this statement as 
language is the most important 
part of children’s lives as their 
language is associated with his/
her community which has a di-
rect impact on cognitive devel-
opment.

142.	Option (2) is correct. 
	 Explanation: Assessing reading 

skills goes beyond just recogniz-
ing letters or reading at a certain 
speed. Reading with under-
standing is a critical aspect that 
involves comprehending and 
interpreting the meaning of the 
text.

143.	Option (3) is correct. 
	 Explanation: The whole lan-

guage approach is an instruc-
tional philosophy that emphasiz-
es teaching reading and writing 
in the context of meaningful, 
authentic language use. It focus-
es on the overall meaning of lan-
guage and encourages learners 
to understand words and texts 
holistically rather than breaking 
them down into isolated compo-
nents.

144.	Option (4) is correct. 
	 Explanation: This activity is de-

signed to assess the student’s 
ability to understand the main 
idea or gist of the story by se-

quencing the pictures in the 
correct order. It focuses on 
comprehension and the overall 
understanding of the narrative 
rather than specific details, new 
vocabulary, or arranging picture 
cards.

145.	Option (3) is correct. 
	 Explanation: Yes, I agree. As re-

search indicates that individu-
als acquire and refine language 
skills from infancy into adult-
hood, with ongoing opportuni-
ties for learning and adapting 
language use in various contexts. 
Language development is a life-
long and dynamic process.

146.	Option (4) is correct. 
	 Explanation: Assessment at the 

foundation stage should be in-
tegrated into the learning pro-
cess, allowing it to align with the 
child's natural development and 
experiences. It should focus on 
observing, understanding, and 
supporting individual progress 
rather than relying solely on for-
mal tests or examinations. This 
approach ensures that assess-
ment becomes a meaningful and 
intrinsic part of the child's learn-
ing journey.

147.	Option (2) is correct. 
	 Explanation: The described ap-

proach of memorizing grammar 
rules and vocabulary, along with 
using the mother tongue exten-
sively, aligns with the Grammar 
Translation method. This tradi-
tional method often focuses on 
explicit instruction of grammar 
rules, translation exercises, and 
rote memorization of vocabu-
lary, typically using the learner's 
native language.

148.	Option (1) is correct. 
	 Explanation: Audio books or Tac-

tile books provides a auditory, 
hands-on experience,  so it can 
be especially beneficial for learn-
ers with diverse needs, including 
those who may benefit from a 
multisensory approach.

149.	Option (1) is correct. 
	 Explanation: A big challenge in 

learning to read is finding mo-
tivation and good children’s lit-
erature. To overcome these chal-

lenges provide easily accessible 
children’s literature to motivate 
and generate interest in reading, 
which will encourage them to 
read and learn new vocabulary.

150.	Option (1) is correct. 
	 Explanation: A speaking activity 

is designed to engage learners 
in active communication and 
expression of their thoughts. 
Therefore, in a good speaking ac-
tivity, the emphasis is on learners 
actively participating and talking 
more, as it enhances their speak-
ing skills, fluency, and ability to 
express ideas verbally.

Hkk"kk-I: fgUnh

91.	 fodYi (2) lgh gSA
O;k[;kµvkarfjd LoPNrk ls lEcfU/kr 
^f'k{kk* ugha gSA eu ds 'kq¼ vkSj lkfRod 
fopkj vkarfjd LoPNrk ds vk;ke gSaA 
ckg~; LoNrk ds vUrxZr LokLF;] f'k{kk 
i;kZoj.k] vPNh lkekftd vkSj vkfFkZd 
fLFkfr dk lekos'k gksrk gSA

92.	 fodYi (1) lgh gSA
O;k[;kµ^cqfu;knh* esa ^bZ* izR;; gSA
os 'kCnka'k tks fdlh 'kCn ds vUr esa tqM+dj 
mlds vFkZ esa ifjorZu dj nsrs gSaA

93.	 fodYi (4) lgh gSA
O;k[;kµ^vkarfjd LoPNrk* ls rkRi;Z eu 
ds 'kq¼ vkSj lkfRod fopkj ls gS rFkk 
eu ds cqjs Hkkoksa dks nwj djuk Hkh blh ds 
vUrxZr vkrk gSA

94.	 fodYi (3) lgh gSA
O;k[;kµckg~; LoPNrk dk ewyk/kkj 
vkarfjd LoPNrk gSA eu dh LoPNrk ekuo 
O;ogkj dks n'kkZrh gSA lR;] 'kq¼rk] 'kkafr] 
izse vkSj lEeku tSls vkRek ds tUetkr 
xq.kksa dk mYya?ku izkd`frd fof/k] fo/kku 
vkSj O;oLFkk dk mYya?ku gS blfy, eu 
ds 'kq¼ vkSj lkfRod fopkj ij vf/kd 
cy fn;k x;k gSA

95.	 fodYi (2) lgh gSA
O;k[;kµlewg ls fHkUu 'kCn ^LoPN* gS 
D;ksafd ;g ,d fo'ks"krk gSA

	 laKk 'kCn& lEeku] LoPNrk] fueZyrk
fo'ks"k.k& os 'kCn gksrs gSa tks fdlh laKk 
;k loZuke 'kCnksa dh fo'ks"krk cukrs gSaA

96.	 fodYi (4) lgh gSA
O;k[;kµckg~; LoPNrk dk ewyk/kkj 
vkarfjd LoPNrk gS] okD; dk gS fd Hkhrjh 
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LoPNrk ij ckgjh LoPNrk vkèkkfjr gksrh 
gSA

97.	 fodYi (1) lgh gSA
O;k[;kµfo'ks"k.k&fo'ks"; dk lEcU/k 
f'k{kk&i;kZoj.k ls ugha gSA
fo'ks"k.k&fo'ks";& (i) tUetkr xq.k (ii) 
ckg~; LoPNrk (iii) cqfu;knh vko';drk

98.	 fodYi (1) lgh gSA
O;k[;kµvkarfjd vkSj ckg~; nksuksa :iksa 
esa LoPNrk vkSj fueZyrk ,d cqfu;knh 
vko';drk gSA eu ds 'kq¼ vkSj lkfRod 
fopkj vkarfjd LoPNrk ds vk;ke gSaA

99.	 fodYi (1) lgh gSA
O;k[;kµ^fo/kku* esa ̂ bd* izR;; yxkus ij 
oS/kkfud 'kCn cusxkA

100.	fodYi (1) lgh gSA
O;k[;kµvktknh feyus dk Js; ohjksa ds 
cfynku dks fn;k x;k gSA vktknh izkIr 
djus ds fy, ohjksa us yEck la?k"kZ fd;k gSA

101.	fodYi (1) lgh gSA
O;k[;kµ^uhfr* 'kCn esa ^bd* izR;; dk 
iz;ksx fd;k tk ldrk gSA ^uhfr* ,d ewy 
'kCn gSA uhfr esa bd izR;; tksM+us ij 
uSfrd 'kCn cusxkA

102.	fodYi (4) lgh gSA
O;k[;kµns'k dh Lora=rk ds fy, ohjksa us 
vius thou dh vkgqfr nh gSA

103.	fodYi (3) lgh gSA
O;k[;kµO;kikjh cuds gesa xqyke cuk;k 
x;kA dfork esa dfo us bl Ny dh ckr 
dh gSA dfo dgrk gS fd & ̂ ^O;kikjh cudj 
vk, vkSj Ny ls ge ij jkt fd;k**

104.	fodYi (2) lgh gSA
O;k[;kµns'k dks Lora=rk izkIr djus 
esa ,d yEck le; yxk FkkA ;g Hkko 
dfork esa ^yEch pyh yM+kbZ FkhA* va'k esa 
izfrfcfEcr gksrk gSA

105.	fodYi (2) lgh gSA
O;k[;kµ^LokfHkeku* dk laf/k&foPNsn 
Lo$vfHkeku gksxkA
laf/k foPNsn%& nks 'kCnksa ds lg;ksx ;k esy 
ls cus 'kCn dks nqckjk vyx&vyx djuk 
laf/k&foPNsn dgykrk gSA

106.	fodYi (2) lgh gSA
O;k[;kµiqLrdky; esa ikB~;iqLrdksa dk 
lLoj iBu lokZf/kd mi;qDr :i ls gks 
ldrk gSA ;g izkFkfed Lrj ij iqLrdky; 
ds iz;ksx ds ckjs esa lgh ugha gSA
izkFkfed Lrj ij iqLrdky; iz;ksx%& 

	 v/;kid vkSj nwljs o;Ld Hkh 
iqLrdky;ksa esa vkn'kZ iBu O;ogkj 
iznf'kZr dj ldrs gSaA

	 f'k{kkfFkZ;ksa dks cky lkfgR; dh fofo/k 
izdkj dh fo/kkvksa dks ns[kus ds ekSds 
feyus pkfg,A

107.	fodYi (1) lgh gSA
O;k[;kµizR;{k fof/k (Mk;jsDV) cPpksa 
dks Hkk"kk dh d{kk esa mldh lgtkr 
Hkk"kk (ekr`Hkk"kk) dk iz;ksx djus ds fy, 
izksRlkfgr ugha djrk gSA

108.	fodYi (4) lgh gSA
O;k[;kµlk{kjrk vftZr djus ds fy, 
n`'; (lkbV) 'kCnkoyh vkSj izfrekuksa dh 
igpku dh fuiq.krk (ekLVjh) gksuh pkfg,A

109.	fodYi (1) lgh gSA
O;k[;kµjk"Vªh; ikB~;p;kZ :ijs[kk 
}kjk js[kkafdr n{krkvksa dks izkIr djus esa 
izR;sd cPps dks leFkZu nsus okyk lekos'kh] 
Lokxrh; vkSj vkuannk;h ifjos'k lokZfèkd 
mi;qDr rjhds ls l`ftr fd;k tk ldrk 
gSA mlds fy, fodkl ds fofHkUu vk;keksa 
ls cPpksa ds dk;Z dk izn'kZu fd;k tkuk 
pkfg,A

110.	fodYi (4) lgh gSA
O;k[;kµlEizs"k.kkRed mikxe f'k{kkFkhZ 
dh thou dh okLrfod ifjfLFkfr;ksa esa 
Hkk"kk iz;ksx ds eq[; ls lEcfU/kr gSA

111.	fodYi (1) lgh gSA
O;k[;kµf'k{kkFkhZ tc viuk dke 
v/;kid dks nsus ls iwoZ lVhdrk ds fy, 
vafre (Qkbuy) :i ls tk¡prh gS rc 
mls izwQ jhfMax ds vUrxZr 'kkfey fd;k 
tkrk gSA

112.	fodYi (1) lgh gSA
O;k[;kµd{kk rhu ds cPpksa ds fy, 
iqLrdksa dk p;u djrs le; bl ckr 
dks /;ku j[kuk pkfg, fd D;k iqLrdsa 
rhljh d{kk dh iBu ikB~;p;kZ ds y{; 
dks lEcksf/kr djus esa enn djsaxh\

113.	fodYi (2) lgh gSA
O;k[;kµp;fur lkexzh flQZ cPpksa }kjk 
cukbZ xbZ gksuh pkfg, vkSj fQlyu dks 
cpkus ds fy, dqN [kqjnjh gksuh pkfg,A 
;g okD; d{kk nks ds ekunaM Vh,y,e ds 
p;u ds fy, lgh ugha gSA
d{kk nks ds fy, ekunaM%
	 p;fur lkexzh vf/kekur% LFkkuh; 

:i ls fufeZr ;k LFkkuh; :i ls 

miyC/k gks ftls vklkuh ls cnyk tk 
ldsA

	 p;fur lkexzh ,slh gks tks cPpksa dks 
ftKklk ds lkFk [kkstchu vkSj iz;ksx 
djus esa i;kZIr volj nasA

114.	fodYi (3) lgh gSA
O;k[;kµekSf[kd izokg vH;kl esa lgikBh 
fdlh Hkh 'kCn ls lEcfU/kr iz'uksa dks iwNrs 
gSaA

115.	fodYi (2) lgh gSA
O;k[;kµ/ofu foKku funsZ'k esa v{kjksa 
vkSj /ofu ds e/; lEcU/k ij cy fn;k 
tkrk gSA
/ofu foKku ds vo;u%&
	 cyk?kkr
	 ygtk
	 la;kstu

116.	fodYi (2) lgh gSA
O;k[;kµO;kdj.k dks mlds fu;e 
daBLFk djds lh[kuk O;kdj.k f'k{k.k dk 
izHkko'kkyh rjhdk ugha gSA
O;kdj.k f'k{k.k%&
	 lEizs"k.k ds vH;kl ds volj nsukA
	 O;kdj.k ds izklafxd fu;e izLrqr 

djukA

117.	fodYi (2) lgh gSA
O;k[;kµrduhdh fl¼kUr esa cqfu;knh 
pj.k ij ikB~;iqLrd dh vfHkdYiuk ugha 
dh tkrh gSA

118.	fodYi (4) lgh gSA
O;k[;kµcqfu;knh pj.k dh voLFkk okys 
cPps vf/kxe esa rc dgha vf/kd layXu 
gksrs gSa tc os lHkh bafnz;ksa dk iz;ksx djrs gSa 
vkSj vius gkFkksa dk lfØ; iz;ksx djrs gSA

119.	fodYi (4) lgh gSA
O;k[;kµ'kCn vkSj okD; lajpuk dks 
daBLFk djds cPpksa }kjk f'k'kq xhr] xhr 
vykiuk lgh rjhdk ugha gSA

120.	fodYi (2) lgh gSA
O;k[;kµ,d v/;kid us f'k{kkfFkZ;ksa 
dks vius lgikfB;ksa ls viuh vH;kl 
iqfLrdkvksa dh vnyk&cnyh dj tk¡pus 
ds fy, dgkA bl dk;Z dk mís'; lgikBh 
ds dke dh tk¡p ds dkS'ky fodflr djuk 
gSA

Hkk"kk-II: fgUnh

121.	fodYi (4) lgh gSA
O;k[;kµx|ka'k ds vuqlkj 2050 rd 
ikuh dk lcls cM+k ladV Hkkjr esa vkus 
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okyk gSA Hkkjr ij ladV blfy, gS D;ksafd 
xaxk] ;equk] czãiq= vkSj fla/kq tSlh ufn;ksa 
dk ikuh /khjs&/khjs de gksrk tk,xkA

122.	fodYi (1) lgh gSA
O;k[;kµbl ckj ekSle foKkfu;ksa us 
?kks"k.kk dh gqbZ gS fd vy uhuks izHkko ds 
dkj.k ekulwu detksj jg ldrk gSA

123.	fodYi (4) lgh gSA
O;k[;kµHkkjr dh ufn;ksa esa ty de gksrk 
tk jgk gSA bldk dkj.k Xysf'k;jksa dk rsth 
ls fi?kyuk gSA lHkh tyok;q ifjorZu dk 
tks gky gS] og iwjs fgeky; {ks= ds fy, 
[krjukd ekuk tk jgk gSA

124.	fodYi (1) lgh gSA
O;k[;kµ2500 fdyksehVj yEch ;g unh 
mÙkjk[kaM ls caxky ds chp dbZ jkT;ksa ls 
xqtjrh gSA blds fdukjksa ij cls egkuxjksa] 
dLcksa vkSj xkaoksa dh djhc pkyhl djksM+ 
dh vkcknh dh ikuh ls tqM+h t:jrksa dks 
;g iwjk djrh gSA

125.	fodYi (1) lgh gSA
O;k[;kµufn;ksa dk ikuh /khjs&/khjs de 
gksrk tk,xkA okD; esa js[kkafdr in fØ;k 
fo'ks"k.k gSA
	 fØ;k fo'ks"k.k& blesa fØ;k dh 

fo'ks"krk dk irk pyrk gSA

126.	fodYi (4) lgh gSA
O;k[;kµikSus nks fdyksehVj 'kCn okD; esa 
ifjek.kokpd fo'ks"k.k
	 ifjek.kokpd fo'ks"k.k&blesa laKk 

vFkok loZuke ds uki&rkSy dk cksèk 
gksrk gSA ikSus nks fdyksehVj ls gesa uki 
dk cks/k gksrk gSA

127.	fodYi (1) lgh gSA
O;k[;kµ^i;kZoj.k* esa milxZ vkSj ewy 
'kCn ifj$vkoj.k gSA
milxZ& os 'kCnka'k tks fdlh 'kCn ds iwoZ esa 
tqM+dj mlds vFkZ esa ifjorZu dj nsrs gSaA

128.	fodYi (1) lgh gSA
O;k[;kµbl x|ka'k esa ty ladV dh ckr 
dh xbZ gSA 

129.	fodYi (4) lgh gSA
O;k[;kµ^Lora=* dk foykse ^ijra=* gSA
foykse& fdlh 'kCn ds foijhr vFkZ nsus 
okys 'kCnksa dks foykse dgrs gSaA

130.	fodYi (4) lgh gSA
O;k[;kµ 
	 bl lalkj esa lc dqN vLFkk;h gSA
	 iki vkSj iq.; nksuksa bl lalkj ls 

lEcfU/kr gSaA

	 iki vkSj iq.; Hkh vLFkk;h gSaA

131.	fodYi (3) lgh gSA
O;k[;kµlewg ls fHkUu ,d ^Qy* gSA 
^Qy* 'kCn laKk gSA vU; lHkh 'kCn 
fo'ks"k.k gSA
fo'ks"k.k 'kCn&vLFkk;h] I;kjk] Lora=

132.	fodYi (1) lgh gSA
O;k[;kµiki vkSj iq.; nksuksa dh rqyuk 
Øe'k% yksgs vkSj Lo.kZ dh tathj ls dh 
xbZ gSA yksgs dh tathj ls NwVus dk vkneh 
dk eu Hkh djrk gS ysfdu lksus dh tathj 
ls tks c¡/kk gqvk vks mldks og ca/ku I;kjk 
yxkus yxrk gSA

133.	fodYi (1) lgh gSA
O;k[;kµbl lalkj esa dqN Hkh LFkk;h 
ugha gSA
eq[; fcUnq&
	 iki vkSj iq.; vLFkk;h gSaA
	 bl lalkj esa lc dqN vLFkk;h gSA

134.	fodYi (2) lgh gSA
O;k[;kµx|ka'k ds vuqlkj iki vkSj iq.; 
nksuksa esa ca/ku gSA iq.; lq[k nsdj vkSj iki 
nq%[k nsdj var dks izkIr gksrk gSA

135.	fodYi (3) lgh gSA
O;k[;kµiki vkSj iq.; esa FkksM+k varj ;g 
gS fd iq.; dk Qy ;fn ge ugha pkgrs 
rks ml Qy dks vLohdkj djus ds fy, 
Lora= gSA

136.	fodYi (4) lgh gSA
O;k[;kµdksbZ Hkh O;fDr vius lekt esa 
lgtkr okpdksa (ewyHkk"kk cksyus okyksa) 
ds lrr~ lEidZ ds ek/;e ls lokZf/kd 
mi;qDr rjhds ls f}rh; Hkk"kk lh[k ldrk 
gSA

137.	fodYi (4) lgh gSA
O;k[;kµ;fn cPps vius ifjos'k esa nks 
Hkk"kkvksa dk cksyuk lqurs gSa] nks Hkk"kkvksa 
dks lquus ds ;s volj cPpksa dks ykHk 
igq¡pkrs gSaA

138.	fodYi (2) lgh gSA
O;k[;kµv/;kid }kjk lajpukRed 
mikxe fd;k tk jgk gSA
lajpukRed mikxe%&
	 blesa 'kCnksa dk pquko vkSj oxhZdj.k 

f'k{kkFkhZ dks fl[kk;k tkrk gSA
	 f'k{kkFkhZ dks Hkk"kk ds vFkZiw.kZ 'kCnksa dk 

p;u fl[kk;k tkrk gSA

139.	fodYi (4) lgh gSA
O;k[;kµxgu iBu (baVSaflo) ds vUrxZr 
f'k{kkfFkZ;ksa ls vis{kk jgrh gS fd os 

fo"k;oLrq dks foLrkj ls /;kuiwoZd vkSj 
lko/kkuhiwoZd i<+saA bl izdkj ds iBu ds 
dqN vf/kxe mís'; vkSj dk;Z gksrs gSaA

140.	fodYi (1) lgh gSA
O;k[;kµckysus (okpu) dh ;g xfrfof/k 
funsZf'kr ekSf[kd vH;kl gSA  blesa 
v/;kid us viuh d{kk ds f'k{kkfFkZ;ksa dks 
lewgksa esa ck¡Vk gS vkSj i<+s x, lekpkj&i= 
ds #fpdj vkys[k esa ckr djus dks dgk gSA

141.	fodYi (2) lgh gSA
O;k[;kµcPpksa dk laKkukRed fodkl 
vkSj Hkk"kk ml laLd`fr vkSj leqnk;ksa ls 
?kfu"B :i ls lEcfU/kr gS ftuesa cPps 
jgrs gSaA

142.	fodYi (2) lgh gSA
O;k[;kµizkFkfed Lrj ij Hkk"kk dkS'ky 
dk vkdyu djus ds fy, Hkk"kk v/;kid 
dks eq[;r% le> ds lkFk iBu ij /;ku 
dsfUnzr djuk pkfg,A

143.	fodYi (2) lgh gSA
O;k[;kµlexz Hkk"kk mikxe /ofu ladsr 
lEcU/k esa fu"d"kZ fudkyuk gSA
eq[; fcUnq%&
	 blesa f'k{kd Hkk"kk dks iw.kZ rFkk vFkZiw.kZ 

okD; ds :i esa lh[kuk vkjEHk djrk 
gSA

	 vuqHkoksa ds ek/;e ls i<+uk fl[kkrk gSA

144.	fodYi (4) lgh gSA
O;k[;kµ,d v/;kid us d{kk ik¡p ds 
fo|kfFkZ;ksa dks 'kh?kzrk ls ,d dgkuh i<+us 
vkSj mlds ckn pkj fp=ksa dks Øe esa yxkus 
ds fy, dgkA bl xfrfof/k dk mís'; 
lkjka'khdj.k ds fy, iBu dk vH;kl 
djokuk gSA
eq[; fcUnq%& 
	 fo"k; le>kus ds fy, mi;ksxhA
	 blds }kjk f'k{kkFkhZ ikB~;oLrq dh vius 

efLr"d esa :ijs[kk rS;kj djrk gSA

145.	fodYi (3) lgh gSA
O;k[;kµ^Hkk"kk vf/kxe ,d xgu izfØ;k 
gS tks tUe ds le; ls 'kq: gksrh gS vkSj 
thou i;ZUr pyrh gSA** eSa bl dFku ls 
lger gw¡A

146.	fodYi (4) lgh gSA
O;k[;kµcqfu;knh pj.k esa vkdyu ds 
midj.k vkSj izfØ;kvksa dh vfHkdYiuk 
bl rjg gksuh pkfg, fd tks cPps ds 
vfèkxe vuqHko dk lgt foLrkj cu 
ldsaA
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147.	fodYi (2) lgh gSA
O;k[;kµHkk"kk v/;kid }kjk viuh d{kk 
esa O;kdj.k vuqokn dk iz;ksx djuk pkfg,A
eq[; fcUnq%&
	 O;kdj.k vuqokn esa O;kdj.k dks egRRo 

fn;k tkrk gSA
	 blesa ekr`Hkk"kk }kjk lh[kus dks c<+kok 

fn;k tkrk gSA
	 blds iz;kl ls f'k{kkFkhZ dks Hkk"kk ds 

izokg iz;ksx djus ds ;ksX; cuk;k tkrk 
gSA

148.	fodYi (3) lgh gSA
O;k[;kµd{kk esa NksVs cPpksa ds fy, eqfnzr 
iqLrdksa ds lkFk&lkFk JO; iqLrdsa vkSj 
NksVs cPpksa dh Li'kZxzkgh ;ksX;rkvksa dk 
bLrseky djus okyh iqLrdsa gksuh pkfg, 
D;ksafd blls d{kk esa fofo/krk vkrh gS vkSj 
cPpksa dks fofo/krk cgqr ilan gSA

149.	fodYi (1) lgh gSA
O;k[;kµiBu lh[kus esa lcls cM+h 
eqf'dy izsj.kk vkSj vPNk cky lkfgR; 
ikus dh gSA bl eqf'dy dks nwj djus 
ds fy, ,slk fd;k tk, fd cky lkfgR; 

vklkuh ls miyC/k gks tk, ftlls iBu 
ds fy, izksRlkgu fey ldsa vkSj mlesa #fp 
iSnk gks ldsA

150.	fodYi (1) lgh gSA
O;k[;kµ,d vPNh okpu (cksyuk) 
xfrfof/k og gS ftlesa f'k{kkFkhZ vf/kd 
ckrphr djrs gSaA
eq[; fcUnq%&
	 blesa f'k{kkFkhZ dh vfHkO;fDr {kerk dk 

fodkl gksrk gSA
	 blesa f'k{kkFkhZ Hkko dks Bhd izdkj ls 

le> ikrs gSaA


